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CHAPTER
.4

¥ ine BIG 10ca ¥

What is Economies?

#l TEXT SUMMARY

People always have to make decisions
about how to meet their needs and
wants. A need is something people must
have to survive, like air, food, and shel-
ter. A want is something that people
would like to have but is
not necessary for survival,
Economics is the study of how
people make choices to satisfy
their needs and wants.

SCARCITY AND THE FACTORS
OF PRODUCTION

trouble supplying goods and services at
current prices. Shortages may occur
because of situations like war or drought.
They may end quickly or last a long time.

Economists call the tesources used to
make goods and services factors of
production. There are three types: land,
labor, and capital. Land includes natural
resources like coal, water, and forests.
Labor is work for which people receive

limited resowrces to
meet their needs
and wants.

People have to make such
choices because of scarcity,
the limited amounts of resources
to meet unlimited desires.

pay. Capital is a human-made resource
used to produce other goods and services.
Objects made by people, like buildings
and tools, are called phaysical capital.

Goods are objects, like cars and clothes.
Services are actions that people do for
others, such as teaching. A shortage

Human capital refers to the knowl-
edge and skills people gain from study
and experience. Emtrepremeurs are

occurs when a good or service is unavail-

people who put together land, labor, and
able. Shortages occur when people have

capital to create new businesses.

M GRAPHIC SUMMARY: The Factors of Production

Land

Natural resources used to

produce goods and services Goods and
Entrepreneur Services

Labor Person who combines » Objects and

Work for which people are paid factors of production to actions that
create new businesses satisfy people’s

+ (capital ' needs and wants
Human-made resource used to
make ather goods and services

The three factors of production—land, labur, and capital—are used to create goods and services.

# REVIEW QUESTIONS
1. What is scarcity?

2. Diagram Skills What is the
name of any human-made resource
that is used to make other goods
and services?




B TEXT SUMMARY

When making decisions people face
trade-offs, or alternatives we give up
when we choose one course of action over
another. Individuals, businesses, and gov-
ernments all face trade-offs. A person who
chooses to spend more time at work has
less time to spend at home. A business
that uses all its factories to build chairs
cannot build tables at the same time. A
country that decides to produce more
military goods has fewer resources to use
for consumer goods. Economists use the
term guns or butter to describe this
trade-off.

A person who chooses one alternative
gives up other alternatives. The most
desirable alternative given up is called the
opportunity cost. For example,

B ) OpPPORTUNITY COST

suppose you have to choose between
sleeping late or getting up early to study
for a test. The opportunity cost of extra
study time is less sleep. The opportunity
cost of more sleep is less study time.
Decisions also involve
thinking at the margin. This
means deciding about adding or

subtracting one unit of a | chm they must
resource, such as one hour of glve up something.
sleep. In the example above, the The most desirable

decision was between sleeping
late or studying. But you could
also choose to sleep an hour late,
then wake up to study. To make a
decision at -the margin, you’
would compare the opportunity cost and
benefit of each extra hour of studying.

¥l GRAPHIC SUMMARY: Decision-Making at the Margin

Alternatives

2 ;'-'-"-,_'..:"

1st hour of extra study time

Grade of C on test

1 hour of sleep

2nd hour of extra study time

Grade of B on test

2 hours of sleep

3rd hour of extra study time

Grade of B+ on test

3 hours of sleep

This grid shows one way to analyze a decision by identifying the opportunity costs and benefits at

the margin.

E REVIEW QUESTIONS
1. What is opportunity cost?

2. Chart Skills What is the opportu- ""
nity cost of the first extza hour of

study?

THE BIG 1bea 5

Yszass

choice they give
ap is called the
opportunity cost.
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CURVES

H TEXT SUMMARY

Economists use graphs that are called
production possibilities curves to

THE BIG 1DEA Z

Producers make
decisions about how
10 nuse resonrces.
Production possibili-
ties graphs can be
used to examine the
opportunity costs of
these decisions.

show alternative ways of using a
country’s resources. For example,
an economist might want to
examine the production of shoes
and watermnelons. A production
possibilities curve can show how
the number of shoes produced is
affected by the number of water-
melons grown. As the number of
watermelons  produced s
increased the nurnber of shoes
produced will decrease. This

happens because land is scarce, and more
land for watermelon farms means less land
for shoe factories. Similarly, as more shoes
are produced less resources are available to
grow waterrnelons.

Efficiency means an economy is
using resources in such a way as to

maximize the production of goods and ser-
vices. In the above example, efficiency
would mean that the most watermelons
and shoes possible are being produced.
The line on the curve that shows the max-
imum possible production is called the
production possibilities frontier. [f
factory workers and farrners lost their jobs,
fewer shoes and watermelons would be
produced. In this case the economy would
suffer from underutilization, or using
fewer resources than it is capable of using.
A country’s resources are always changing.

In the future, resources may increase,
causing the economy to grow. If more labor
becomes available, there will be more work-
ers to produce more goods. Improvements
in technology, or know-how, will also help
the economy grow. This growth can be
shown by a shift to the right on the pro-
duction possibil.ties frontier.

El GRAPHIC SUMMARY: Production Possibilities Curve

25

This production possibilities T

curve shows a made-up i
country’s trade-offs in pro-
ducing shoes and watermei-
ons, At point 3, it produces
no watermelons but all pos-
sible shoes. At point £, it pro-
duces no shoes and all possi-
bie watermelons.

Shoes {miilions of palrs}

A paint of
underutilization

Future production
possibilities frontier

1 T
5 10 15 20 25
Watermelons {millions of tons)

E REVIEW QUESTIONS
1. What is efficiency?

2. Graph Skills How many water-

melons and shoes are produced at
point b on the production possibil-
ity frontier?
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Name Class Date

Test

Z IDENTIFYING MAIN IDEAS

Wirite the letter of the correct answer in the blank provided. (10 points each)

=,

CHAPTER

1. Economics is the study of how people ____ 6. Countries often have to choose between

A. calculate their income tax. producing military or consumer goods, a
B. choose from limited resources to meet trade-off economists call
their needs. A. export or import.
C. respond to war and drought. B. a free market economy.
D. gain knowledge and skills from study C. farm goods or factory goods.
and experience. D. guns or butter.
2. Shortages occur when 7. Thinking at the margins means deciding
A. many people are unemployed. about
B. interest rates go up. A. maximizing goods and services.
C. people have trouble supplying goods B. investing with borrowed money.
and services at current prices. C. adding or subtracting one additional
D. the United States imports more than it unit of some resource.
exports. i D. increasing or decreasing technological
3. The resources used to make goods and know-hiow.
services are called 8. The purpose of a production possibilities
A. factors of production. curve is to
B. gross national product. A.show alternative ways to use an econo-
C. production possibilities frontier. my'’s resources.
D. opportunity cost. B. show how a factory can use its workers

in different ways.

C. give engineers a new way of deciding
how to build manufacturing plants.

D. tell farmers how many watermelons to

4. Entrepreneurs are people who

A. help settle labor disputes.
B. work on the floor of the stock
exchange.

plant.
C. put together land, labor, and capital to }
create new businesses. — 9. Using resources in such a way as to
D. produce all of a country’s guns maximize the production of goods and
and butter. services is called
A. efficiency.

5. Giving up one alternative for another is

called B. underutilization.

C. thinking at the margins.
A. underutilization.

D. growth.
B. a trade-off.
C. human capital. __ 10. A country’s production possibilities
D. efficiency. will grow if it

A. produces more guns than butter.
B. lowers its opportunity costs.

C. makes more trade-offs.

D. increases its resources.
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in deciding how

to wse their scarce
economic resources.

economic questions

Economic Systems

& TEXT SUMMARY

Because economic resources are limited,
a country must answer three key eco-
nomic questions. These are: 1) What
goods and services should be produced?
2) How should these goods and services
be produced? 3) Who consumes
these goods and services?

In answering these questons,
societies must consider their eco-
nomic goals. Some goals, such as
economic freedom or economic
equity, are considered more
important in some countries
than in others. Other goals, like
economic efficiency, are shared
by most countries. Another important
goal is growth and innovation. A nation's
economy must grow in order to improve
its stamndard of livimg, or level of
prosperity.

1) ANSWERING THE THREE
e EcONoMIC QUESTIONS

Four types of ecomomic systems
have developed as societies attempt to
answer the three economic questions
according to their goals. An economic
system is the method a society uses to
produce and distribute goods and ser-
vices. A traditional ecomomy relies
on custom to make most economic deci-
sions. People grow up doing what their
parents did, and there is little innova-
tion or change. In a market economy,
economic decisions are made by individ-
uals and are based on exchange, or trade,
Market economies are also known as the
free market. In a centrally planned
economy, the government makes most
economic decisions. Most economies
today are mixed ecomomies, a
combination of the three other econ-
omic systems.

g GRAPHIC SUMMARY: Economic Goals

ECONOMIC ECONOMIC ECONOMIC ECONOMIC ECONOMIC
EFFICIENCY FREEDOM SECURITY AND EQUITY GROWTH AND
PREDICTABILITY INNOVATION

Maximizing output | Allowing individuals | Assuring people Dividing resources | Encouraging the
of goods and to make economic | that goods and in a way that is development of
services from the | choices about servicas will be considered fair new ideas and
resources avallable |zarning income, available; providing skills; helping the

owning property, aid for retirement €CONOMmy grow

and purchasing and in difficuit

goods and services | times

While most societies pursue all of these goals, a society may value some goals more than others.

#1 REVIEW QUESTIONS

1. How are decisions made in a mar-
ket economy?

2. Chart Skills What is economic
efficiency?
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E TEXT SUMMARY

None of us can produce everything
we need and want. Markets exist so
that people can exchange the things
they have for the things they want. A
market is an arrangement that allows
buyers and sellers to exchange goods
and services.

Markets function because of seif-interest
and competition. Self-interest means
buyers and sellers are focused on per-
sonal gain. It motivates consumers
to buy the goods and services they
want at the lowest prices possible.
Competition is the struggle among
producers for the dollars of consumers.
It keeps prices low as firms attempt
to make their prices attractive to con-
sumers. Together, self-interest and
competition work to regulate the
marketplace.

¥l CRAPHIC SUMMARY:

Product markel

Householts pay
firms for goods snd
services

1) THE FREE MARKET

The factor market and the product
market are the two main parts of the
free market. In the factor market,

firms purchase land, labor, and
capital—the factors of produc-
tion—from households. Firms
rent land, hire workers, and bor-
row money from investors. In the
product market, households
purchase goods and services pro-
duced by firms.

The free market helps an econ-
omy meet many economic goals.
1t encourages efficiency, economic
freedom, and innovation and
growth. However, two other eco-

system, based on
self-interest and
competition, has
many advantages
for societies that
are attempting
to meet their

economic goals.

nomic goals—security and equity—are
difficult to achieve in a pure market sys-
tem. Many societies have modified the
free market to better meet their goals.

households.

Factor Market and Product Market

This circular flow diagram
shows interactions between
businesses and households
in the free market In the
top half, households pur-
chase products made by
businesses. In the bottom
haif, businesses purchase
land, $abor, and capital from

H REVIEW QUESTIONS

1. What is competition, and what
function does it serve in the
free market?

2. Diagram Skills With what do

firms supply households?

# Paarsan Education. Ine.. oublishing as Pearson Prentice Hall. A Rights Feserved.
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THE BIG iDEA

Centrally planned
economies have

economies.

ssmo’@

¥l TEXT SUMMARY

In a centrally planned economy, the cen-
tral government, rather than individual
producers and consumers in markets,
answers the key economic guestions about
production and consumption. The govern-
ment owns the land and the capital. It con-
trols where people will work and how
much they will be paid. It decides what is
produced and at what price
things will be sold.

The terms socialism and
communism are associated
with  centrally controlled

disadvanta not
found in m;‘:,sk et economies. Socialists attach great

value to the goal of economnic
equity. They believe that eco-
nomic equality is possible only
if the public controls the economy.
Socialist countries may be democracies.
Communists share many of the goals of
socialists, but believe that these goals can
only achieved through violent revolution.

CENTRALLY PLANNED
ECONOMIES

In a communist society, individuals lack
personal freedom.

The former Soviet Union was an example
of a communist nation where most eco-
nomic and political power was controlled
by the central government. Under the
Soviet system all workers were guaranteed
employment and income. Factories and
farms had to meet production goals set by
the government.

Centrally planned economies try to
promote faster economic growth and
more equal distribution of goods and
services. However, these systemns almost
always fall short of their goals. Without
the incentive of self-interest, producers
have no reason to produce more or
better products. Consumers find it diffi-
cult to meet their needs or wants, hav-
ing to accept poorly-made merchandise,
In addition, individual freedoms are
limited.

I GRAPHIC SUMMARY: Decision Making in a Centrally
Planned Economy

Limited amount of cotton

L 4

Government decides producers should make more uniforms than sweaters

Y

Less cotton goes
to sweater factories

More cotton goes
to uniform factories

[ 2

Less sweaters
for consumers

L ]

More uniforms
for soldiers

In centraliy planned economies the government makes all important economic decisions.

A REVIEW QUESTIONS

1. In a centrally planned economy
who decides how much goods will
cost?

2. Diagram Skills How does the
government’s decision affect con-
sumers and soldiers?




& TEXT SUMMARY

No economic system has all the answers.
The traditional economy offers little
hope for growth or change. The centrally
planned economy is slow-moving and
offers consumers few choices or freedom.
Market economies have many advan-
tages but also have their limitations. For
example, markets do not provide
answers for some of society’s needs, such
as the need for defense, education, and
fast transportation routes. Governments
provide answers to these needs by main-
taining armed forces, schools, and roads
and bridges. Governments also enforce
property rights and rules against unfair
competition.

No country has an economy that is
purely free market or purely controlled
by the government. All are mixed
economies, combining free markets with

%L, ) MOoDERN ECONOMIES

government intervention, or involve-
ment. There is a contimuum-—a range
with no clear divisions—of economic
systems. At one extreme, the North
Korean economy is almost completely
controlled by the government. China
has a centrally planned economy but is
in transition, a period of change, mov-
ing toward a market system. Hong Kong
is governed by China, but has a
separate economic system based
on its years as a colony of Great
Britain. This system is dominated
by free markets.

Compared to most other
nations, the United States has an
economy with little government
involvement and a great deal of
economic freedom. Such a system
is called free emterprise.

and free market
economies.

El GRAPHIC SUMMARY: A Continuum of Economic Systems

free market |

fran Mexico France Hong Kang

China South Africa
Russia Poland

United Kingdom

; florth Korea
Cuba

{anada
United States

Singapore |
Japan

: ?yéwu*maw T: Johnson, Kim R. Hoimes, and Melania Kirkpatrick
X et Y

i

The world's nations vary greatly in economic systems. The left side of the diagram shows economies
dominated by government. The right side shows economies dominated by the free market.

E REVIEW QUESTIONS

1. What are examples of needs that 2. Diagram Skills: Which
economies are at opposite ends of

the range of economic systems?

are not easily met by free markets?

. I A S i s e 2 = Bt s e e e R b A e B AT U e s |
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Name Class Date .

Test

£ IDENTIFYING MAIN IDEAS
Write the letter of the correct answer in the biank provided. (10 points each)

CHARTER 2

1. Which of these is a key economic 6. Which is true of the government in
question faced by countries? a centrally planned economy?
A. How big should the army be? A. It builds every house in every village.
B. How much money should be raised in B. It encourages workers to innovate.
taxes? C. It makes all important economic deci-
C. How many schools should be built? sions.
D. What goods and services should be D. It places much emphasis on the pro-
produced? duction of consumer goods.
2. In a traditional economy, economic 7. Socialists believe that economic equality is
declsions are based largely on only possible if
A. custom, A, everyone makes the same amount of
B. science. money.
C. socialism. B. the public controls the economy.
D. technology. €. medical care is free,
3. Markets allow us to D. no one has to pay taxes. .

A. get the highest prices for what we sell. 8. The former Soviet Union was an example

B. get the lowest prices for what we buy.

C. sell the most goods we possibly can.

D. exchange the things we have for the
things we need.

4. Competition and self interest are two
important forces in

A. free market economies.

B. traditional economies.

C. centzally planned economies.
D. communist economies.

§. Which economic goals are best promoted
by the free market?

A. efficiency and freedom
B. efficiency and equity
C. innovation and security
D. Freedom and security

of a communist country where

A. individual freedom was allowed.

B. free enterprise was encouraged.

C. consumers had many choices.

. most economic and political power was
controlled by the government.

9. Which of the following countries has
the most extreme example of a centrally
planned economy?

A, North Korea
B. Hong Kong
€. China

D. Great Byitain

10. The free enterprise system of the United
States is best described as a

A. free market economy.

B. traditional economy.

C. mixed economy with limited govern-
ment intervention and a great deal of
economic freedom.

D. mixed economy with equal amounts of .
economic freedom and government
intervention.

10 CHAPTER 2 Guide to the Essentials © Pearon Education, Inc., publishing as Paarson Prentice Hall. ANl Rights Reserved.



American Free Enterprise

> BENEFITS OF FREE

H TEXT SUMMARY

ENTERPRISE

There is a tradition of free enterprise in
the United States—a tradition that
encourages people to try out their busi-

We expect government to protect con-
sumers by assuring that they have the
information they need to make informed

ness ideas and compete in the public
market. Both Mr. Scappoose, the immi-
grant who opened a barber shop, and Bill
Gates, the young man who founded
Microsoft, are part of this tradition, and
both are entrepeneurs with a desire to
succeed and profit.

In the free enterpriseé economy, con-
sumers, acting on their own, decide to

decisions.

Govemment laws, such as
those protecting the right to pri-
vate property and enforcing con-
tracts, help Americans benefit
from free enterprise. The
Constitution also specifies how
government can tax, and it pro-
hibits government from interfer-

able prices.

buy products. Their individual choices
signal the producers what to produce
and how much to make. The result is a
variety of products at reasonable prices.

ing in business contracts. Finaily, federal
and state agencies regulate industries
whose goods and services affect the well-
being of the public.

# GRAPHIC SUMMARY: Features of American Free Enterprise

Economic
Freedom _

American Free
Enterprise

I
é Profit Motive )

These basic featuras of free entarprise are so familiar to us that we tend to take them for granted.

#l REVIEW QUESTIONS

1. What is the role of government in
a free enterprise system?

2. Diagram Skills Which feature of
American Free Enterprise describes
the action taken by the consumer
who buys a book from a bookstore?

=" ;“‘M
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sscrlomzi! PROMOTING GROWTH AND O
' " STABILITY

H TEXT SUMMARY

To keep the huge American economy
on course, government economists
follow macroeconomic trends.
Macroeconomics is the study of the
behavior and decision making of entire

economy and prevent wide swings, the
govemment has three main goais: high
employment, steady economic growth,
and stable prices. Government policy-
makers use different policies and tools in

economies. By contrast, microeconomics
is the study of economic behavior of indi-
viduals, families, and businesses.
Macroeconomic progress is measured by
calculating a nation’s gress
domestic produoct (GDP).
This is the total value of all
final goods and services pro-
duced in a year. Measuring the
change in GDP from one year
to the next is one way of mea-
suring growth or decline in an
economy.

Free enterprise systems are subject to
sudden swings in busimess cycles, peri-
ods of macroeconomic growth followed
by slowing or decline. To stabilize the

their attempts to achieve these goalis.
One way Americans maintain their
high standard of living is by constantly
improving technology. Technology is
the process used to produce a good or ser-
vice. Progress in technology helps the
economy to be more efficient and pro-
ductive, For example, Thomas Edison's
invention of the light bulb in 1879 made
possible a longer work day. To advance
technological progress, government poli-
cies encourage innovation. Federal agen-
cies fund research and development pro-
jects at universities and private compa-
nies. The government also provides
patents and copyrights. This encourages
inventors by protecting their ideas.

] bnsiness"cyclﬁ and to
encourage economic
growth.

# GRAPHIC SUNMMARY: Government Macroeconomic Goals

THREE MAJOR ECONOMIC GOALS

High Steady Stable
Employment Growth Prices
[ i 1
Praviding jobs for Enabling each Preventing sudden
everyone who is ﬁeneratuon to enjoy a | | shifts in prices
able to work her standard
of living than
previous generations

Government economists use a variety of policies in their attempt to achieve their three major goals,

2 REVIEW QUESTIONS

1. What i3 GDP, and how does study-
ing it ‘help economists?

2. Diagram Skills What are
three major economic goals of
government?

12 CHAPTER 3 Guide to the Essentials
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¥ TEXT SUMMARY

People depend on the government to pro-
vide public goods. A public good is a
shared good or service for which it would
be inefficient or impractical to make
consumers pay individually. Examples
of public goods are roads, dams, and
national defense. If the government did
not provide these things, individuals or
companies wouid have to themselves. But
for an individual person or company, the
cost of building a highway outweighs the
benefits. Another characteristic of a pub-
lic good is that it is difficult to exclude
non-payers. Once a road is built, it is dif-
ficuit to keep some drivers from using it.
Situations such as road-building, in which
the free market does not efficiently pro-
vide resources to solve a problem, are
known as market failures.

f GRAPHIC SUMMARY:

Example A Market Failure Occurs

=) ProviDING PUBLIC GOODS

Public goods are paid for by the public
sector. The publc sector is the part of
the economy which involves government
transactions. The private sector
involves transactions of individuals and
businesses.

Externalities can affect the public
and private sector. An extermality is
an economic side effect of a

good or service. The govern.
ment encourages the creation
of positive externalities.
Education, for example, bene-
fits students, yet society as
a whole benefits from an edu-
cated population. The govern-
ment also works to limit nega-
tive externalities, such as auto-
mobile pollution.

Is a Dam a Public Good?

[l fuperts s com ey 3o merm o

 THE BIG IDEA

o
¥ ..?"1 '

'I'ile govefnmmt
- attempts to provide
goods and services
when the market
fails to do so
efficiently.

T BB P Gava T Erdated

Proposal Proposal
Farmers wart a local The govemment considers
river to be dammed. funding the dam. A market failure occurs
when farmers nsed a
, \ I \ dam but will not pay
Benefit Cost i Cost for it. The dam
The dam will i if the cost were The dam will provide: H the cost is shared becomes a public good
itrigation water for the :'n“ l::g'l 2:.:3' would : for the goﬁi the :ogstaltlo eath when the government
farmers’ aops. ouh "elgh the benefits - imgﬂﬁm person will ba less decides L] build it.
to each former, * tourism than the benefit to
« an artificial lake each person.
Y / \ / Result
The benefits of the dam
Decision: No Decision: Yes extend to so many
The farmers need a Yhe government will B people that their
dam but won't pay for it. fund the project. callective benefit
exceeds the total cost
of the dam.

H REVIEW QUESTIONS

1. Explain how the need for a new
road might be an example of mar-
ket failure.

2. Diagram Skills What is the
result of the government’s decision
to build the dam?
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The costs of both
Medicare and Medicaid
have incressad sub-
stantially since they
were created.

= THE BlG IDE A =

wealth unevenly,
the government
Tuns programs to
help people in need.

H TEXT SUMMARY

Free markets tend to spread weaith
unevenly. This leaves some people below
the poverty threshoid. The poverty
threshold is the minimum level of
income, as determined by the govemn-
ment, that is needed to support a house-
hold. To help ease poverty, the govern-
ment collects tax money and redistributes
it to people who are poor or otherwise in
need. This kind of aid is known
as welfare.

In the 1990s, welfare pro-
grams became subject to much
debate. Critics charged that peo-
ple were becoming dependent
on their welfare payments and
were not doing enough to help
themselves.

Despite these debates, wel-
fare programs continue to function in

o) PROVIDING A SAFETY NET

the United States. One major program is
Temporary Aid to Needy Families (TANE). it
uses cash transfers, direct payments of
money, to help poor people. Money pro-
vided by the federal govemment goes to
the states, which design their own welfare
programs. Another major program is Social
Security, which provides cash transfers to
the elderly retired and to people who are
disabled. It is funded from taxes on peo-
ple’s wages, The govemnment also provides
in-kind benefits—goods and services
provided for free or at very low prices.
Examples of in-kind benefits include food
stamps and subsidized housing. Another
important social service that the govemn-
ment provides is health insurance.
Medicare, which provides aid to the
elderly, and Medicaid, which assists the
poor, are two health insurance programs.

8 GRAPHIC SUMMARY: Spending on Two
Government Programs

H REVIEW qu#srlons
1. What are cash transfers?

2. Graph Skills Does government
spend more on Medicare or on
Medicaid?

14 CHAPTER 3 Guide to the Essentials
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Name

Class Date

Test

# IDENTIFYING MAIN IDEAS

Write the letter of the comect answer in the blank provided. (10 points each})

1. The public interest is

A. the concerns of the public as a whole.

B. the right to buy and sell goods.

C. the right of individuals to have safe
products.

D. a property right guaranteed by law.

2. Public disclosure laws require

A. govemnments to disclose their stan-
dards.

B. companies to protect private property.

C. companies to give information about
their products.

D. individuals to use only written con-
tracts.

—__ 3. The minimum income needed to support
a household is

A. the standard of living.
B. the poverty threshold.
C, a cash transfer.

D. in-kind benefits.

— 4, Temporary Aid to Needy Families (TANF)
is an example of

A. an in-kind benefit.

B. Social Security.

C. a welfare program.

D. govemment health insurance.

—. 5. Which of the following is NOT an exam-
ple of a public good?

A. a shopping mall
B. an airport

C. a dam

D. a park

6. A market failure is a situation where

A. the market does not distribute resources
efficiently.

B. a non-payer is not allowed in public
places.

C. entrepreneurs will not pay for public
services.

D. the private sector cannot pay market
price for public goods.

____ 7. Pollution caused by automobiles js an
example of

A. an inefficient allecation of resources.
B. a positive externality.

C. a negative externality.

D the public sector.

_—— 8. One of the best ways of measuring a
nation’s economic progress is to caiculate

A.the strength of its technology.

B. the duration of its positive business
cycles.

C. its unemployment rate.

D. its gross domestic product.

9. What are the three main goals of the
government in its attempt to keep the
economy running smoothly?

A. high interest rates, steady growth, and
regulated prices

B. high employment, steady growth, and
stable prices

C. well-regulated banks, slow growth, and
low prices

D.rapid business cycles, rapid growth, and
fair prices

____ 10.0One way Americans maintain their
high standard of living is by constantly
improving
A. technology.

B. microeconomic policy.
C. patents and copyrights.
D. macroeconomic trends.

syt s s e e e e
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falls.

The demand curve shows
the relationship between
a good’s price and the
damand for that good.
Since demand increases
as prices fall, the curve
slopes down to the right,

will buy less of a
good when its price
rises, and more of a
good when its price

B TEXT SUMMARY

The law of demand states that a good’s
price has an important effect on the
amount of that good people will buy. The
lower the price, the more consumers will
buy. Similarly, the higher the price, the
less consumers will buy. More
people will buy a slice of pizza
priced at $1 than at $10.

The law of demand results
from two patterns of human
behavior. The first, known as
the substitution effect, says
that as the price of a good rises,
people are more likely to substi-
tute alternative goods. When
the price of pizza becomes
more expensive compared to other
foods, like tacos, people are more likely
to buy those other foods. The result is
that the demand for pizza drops.

UNDERSTANDING DEMAND

However, if the price of pizza drops, con-
sumers are more likely to substitute
pizza for other choices. This causes the
demand for pizza to rise,

The other pattern is known as the
income effect. When the price of
pizza and other goods rise, people are
likely to feel poorer. The income effect
takes place when a consumer responds
to a price increase by spending more
on that good, even though it is
more expensive. They spend more, but
usually buy less.

A demand curve illustrates the quan-
tities demanded at each price by con-
sumers in the market. The vertical axis
shows price, and the horizontal axis
shows the quantity demanded. Because
demand rises as prices fail, the demand
curve slopes down and to the right.

H GRAPHIC SUNMMARY: Market Demand Curve

$3.00

$2.50 |

$2.00

$1.50

1.0

Price of a slice of Pizza

$ 50

0

¢ 50 100

150

200 230 390

Quantity demanded per day

H REVIEW QUESTIONS

1. According to the law of demand, a
fall in the price of milk has what
effect on the amount of milk peo-
ple will buy?

2. Graph Skills At §.50 per slice,
what is the demand for pizza

per day?

e e IS SRS I, T T
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CURVE

2 TEXT SUMMARY

Many other factors besides price can
affect the demand for goods. For exam-
ple, if it was discovered that tomato
sauce was extremely good for your
health, demand for pizza would rise.
Consumers would want to buy more
pizza at all price levels. This increase in
demand shifts the entire demand curve
to the right. If it was announced that
tomato sauce was unhealthy, then peo-
pie would buy less pizza at all price lev-
els. This decrease in demand shifts the
demand curve to the left,

Other factors can shift the demand
curve. For example, if your income were
te rise, you might buy more pizza.
Higher income causes people to buy
more of most goods at every price level.
This creates a shift to the right of the

El GRAPHIC SUMMARY:

Left shift of a curve

sscr..,..; SHIFTS OF THE DEMAND

demand curve. Similarly, a decrease in
income causes demand for most goods
to fall.

Changes in population will affect
demand. For example, an increase in the
number of senior citizens is likely to
increase the demand for medical care.
Advertising and fashion trends can also
have a big effect on consumer
dernand.

The demand for one good can

THE BIG IDEA -

also affect the demand for other
goods. Complements are two
goods that are bought and used

Many l’actors
besides price can
change the demand
for goods.

together. People who buy skis
are likely to buy ski boots.
Substitutes are goods used in place of
one another. When people buy more
snowboards they will buy fewer skis.

Shifts of the Demand Curve

Right shift of a curve

Price

Price

Original
Demand

Demand

Demand

Original
Demand

Quantity

Quantity

An increase in demand causes more of a good to be demanded at all price levels. This shifts the demand
curve to the right. A decrease in demand causes less of a good to be demanded, shifting the demand

curve to the left,

B REVIEW QUESTIONS

1. How does an increase in income
affect the demand for most goods?

T e )
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2. Graph Skills What change in
demand is illustrated by a shift to
the left of the demand curve?

P LIy

Poaitdn Mm Ak Fmnnmalata



= THE BIG 1peA =

how people react to
changes in prices.

TR

SECTIO

H TEXT SUMMARY

Economists use the term elasticity of
demand to describe the way people
respond to price changes. If you keep buy-
ing despite a price increase, your demand
is imelastic. If you buy less after a small
price increase your demand is elastic.
Demand tends to be inelastic for goods
that have few substitutes, like medicines,
or for goods that are considered essential,
like milk.

To compute elasticity of
demand, take the percentage
change in the demand of a good
and divide this number by the
percentage change in the price
of the good. Say that if the price
of pizza rises from $1.00 to
$1.50, demand falls from 4 to 3 slices per
day. The change in demand is a 25

H GRAPHIC SUMMARY:

Elastic Demand

Total

revenue
falls

ELASTICITY OF DEMAND

percent decrease. The change in price is a
50 percent increase. The elasticity of
demand is 25 percent divided by 50 per-
cent, or .5. Since this number is less than 1,
the demand is inelastic—customers con-
tinue to buy even if the price increases. A
demand that is more than 1 is elastic.

Elasticity is an important tool for busi-
ness owners. It helps them to determine
how a change in prices will affect their
business’s total revenue, or the amount
of money the company receives by selling
its goods. If a business faces elastic
demand, then raising prices will result in
a sharp drop in demand, decreasing total
revenue. However, when a good has an
inelastic demand, a business might be
able to increase its total revenue by
increasing the price.

Total Revenue and Elasticity

Inelastic Demand

it a business sells a product with elastic demand, consumers are very responsive to price changes, A small
price rise could result in much less demand, reducing total revenue. If demand is inefastic, a price rise will
not affect demand quite so sharply. Consumers will buy nearly as much of the product at higher prices,

and total revenue will rise.

B REVIEW QUESTIONS

1. Explain why the demand for a
particular brand of apple juice
is elastic.

2. Diagram Skills What happens if
demand is elastic and the price is
lowered?

e e e s e eyt
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Class

Date

CHAPTER 4

Test

E IDENTIFYING MAIN IDEAS
Write the letter of the correct answer in the blank provided. (10 points each)

1.

The law of demand says

A. the higher the price, the more con-
sumers will buy.

B. the lower the price, the less consumers
will buy.

C. the lower the price, the more con-
sumers will buy.

D. the lower the price, the more con-
sumers will substitute.

. A drop in price will

A. increase the demand for goods.
B. decrease the demand for goods.
C. not affect the demand for goods.
D. not affect the law of demand.

Which of the following describes the sub-
stitution effect?

A. As the price of a good falls, people will
substitute other products.

B. As the price of a good rises, people will
substitute other products.

C. As demand rises, people will substitute
other products.

D. As demand falls, people will substitute
other products.

. A demand curve illustrates

A. the differences in price charged by dif-
ferent stores.

B. the quantities demanded at each price
by consumers.

C. the differences in demand for different
products.

D. the products which are most in
demand.

. For most goods, a rise in people’s income

means that there will be

A. a substitution effect.
B. a rise in prices.

C. an increase in demand.
D. a decrease in demand.

6.

®

10.

Which of the following is NOT an
example of complements?

A. skis and ski boots

B. row boat and oars

C. electric shaver and charging cord
D. calculator and cell phone

. Substitutes are

A. goods that are bought and used
together.

B. goods used in place of one another.

C. goods that cannot be replaced.

D. goods which cause a shift in the
demand curve.

If you keep buying despite a price
increase, your demand is

A. elastic.

B. strong.

C. normal.

D. inelastic.

. Which of the following is an example of

a good with inelastic demand?

A. life-saving medicine

B. television sets

C. computers

D. a particular brand of chewing gum

Total revenue is defined as

A. the amount of profit a company makes.

B. the amount of profit a company makes
after paying taxes.

C. the amount of money a company
makes by selling its goods.

D. the amount of money affected by price
elasticity.



prices fall.

This supply curve shows
how the price of a slice
of pizza affects output in
a city’s pizza market.
Higher prices will jead
pizzerias to supply mora
pizza.

20
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.w:ill offer more of a
good if prices rise,
and less of a good if

8 TEXT SUMMARY

As the price of a good rises, firms will pro-
duce more to make more revenue. New
firms will have an incentive to enter the
market. The tendency of suppliers to offer
more of a good at a higher price is called
the law of supply. This law
states that the higher the price,
the larger the quantity pro-
duced. If the price of a good
falls, less of a good will be pro-
duced. Some firms will produce
less, and others might drop out
of the market.

A market supply curve
illustrates the quantity supplied
by all producers in a market at different
prices. For example, a market supply
curve could show the quantity of pizza

supplied by all the pizzerias in a city. A
supply curve always rises from left to
right. That is because higher prices lead
to higher output.

Elasticity of supply is a concept that
predicts how suppliers react to price
changes. Industries that cannot easily alter
production have inelastic supply. Qrange
growers, for example, cannot increase pro-
duction quickly when prices rise. They
need to purchase more land and plant
more trees in order to increase output. A
service industry like a barbershop has elas-
tic supply. If the price of a haircut rises,
barber shops and salons can hire new
workers quickly. New barber shops wil
start, and existing businesses will stay
open later.

¥ GRAPHIC SUMMARY: Market Supply Curve

Market Supply Curve

0 500 1,000 1,500 2,000 2,500 3,000 3,500 4,000

Output (slices per day)

CHAPTER 5 Guide to the Essentials

# REVIEW QUESTIONS

1. According to the law of supply,
what happens to the quantity of
goods produced if prices fall?

2. Graph Skills At the price of
32.50, how many slices will be
supplied?

— s’ e
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E TEXT SUMMARY

Economists divide a producer’s costs
into fixed costs and variable costs. A
fixed cost is a cost that does not
change, no matter how much is pro-
duced. Examples of fixed costs include
rent and machinery repairs. A variable
cost is a cost that rises or falls depend-
ing on the quantity produced. These
include the costs of raw materials and
some labor. Fixed and variable costs are

Rl ) CosTs oF PRODUCTION

marginal returns. Workers may need
to wait tc use a tool or machine, As more
workers are added, there will eventually be
negative marginal retumns.

Marginal cost is the cost of produc-
ing one more unit of a good. Marginal
revenue js the revenue gained from pro-
ducing one more unit of a good—usually,
the price of a unit. When marginal cost
is less than marginal revenue, a produc-

added together to find total cost. er has an incentive to BIG EA
Businesses can increase output by hir-  increase output, since it will Ry e i
ing more workers or putchasing more cap- eam a profit on the next piy W -
ital. The change in output from adding unit produced. When mar- businesses consider the
one more worker is the margimal ginal cost is more than mar- marginal benefits of
product of labor. At the beginning, ginal revenue, a producer adding workers or
adding each worker will result has an incentive to decrease purchasing capital.

in increasing marginal returns.
Workers will be able to specialize and
gain skills. At some point, adding each
worker will result in diminishing

output, since it will lose
money on the next unit produced. That
is why profits are maximized when mar-
ginal cost equals marginal revenue.

El GRAPHIC SUMMARY: Marginal Product of Labor

1

I

0
4

o

 workem)

R
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In this example, there are increasing marginal returns from adding the first three workers. As the next
four workers are added there are diminishing marginal returns. The eighth worker results in negative
marginal returns.

8 REVIEW QUESTIONS

1. Explain the difference between
fixed costs and variable costs.

2. Graph Skills How many more
bean bags per hour are produced
by adding a fourth worker?
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H TEXT SUMMARY

Any change in the cost of inputs, like raw
materials, machinery, or labor, will affect
supply. A cost increase causes a fall in sup-
ply at all prices because the good has
become more expensive to produce. Supply
that falls at all prices can be shown as a
shift to the left of a supply curve.
A fall in the cost of an input will

s e cause an increase in supply at all

s sts of inpuods. Bod. | price levels. An increase in supply

| »govarnm et acﬂo“lfl;, is shown by a shift to the right of
et Se T the supply curve.

the supply of a good The government has the

at all prices. power to affect the supply of

many goods. A sabsidy is a gov-

ernment payment to support a
business or market. Since the subsidy low-
ers producers’ costs, its effect is usually to

CHANGES IN SUPPLY

increase supply. The government can also
reduce the supply of some goods by plac-
ing an excise tax on them. An excise tax
is a tax on the production or sale of a
good, making it more expensive to pro-
duce. Regulation, or steps the govern-
ment takes to control production, rnay
also affect supply.

Another influence on supply is pro-
ducers’ expectations. If sellers expect the
price of a good to rise in the future, they
will store goods now and sell more in
the future. But if the price of the good is
expected to drop, sellers will put more
goods on the market immediately. In
periods of inflation, or rising prices, pro-
ducers often try to hold on to goods,
reducing supply.

# GRAPHIC SUMMARY: Forces that Affect Supply

Forces that Increase Supply

Forces that Decrease Supply

Decreases in production costs

Increases in production costs

Increases in technology

Excise taxes

Government subsidies

Govemment regulations

Expectations of future lower prices

Expectations of future higher prices

More firms entering the market

Firms leaving the market

Many different forces are at work in the market place to change the supply of goods and services.

B REVIEW QUESTIONS

1. What effect does inflation often
have on producers and the supply
of goods?

2. Chart Skills How do govern-

ment actions change supply?

—_ e e e e e e
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Name

Class Date

Test

7 IDENTIFYING MAIN IDEAS
Write the letter of the correct answer in the blank provided. (10 points each)

1.

According to the law of supply,

A. the lower the price the larger the quan-
tity consumed.

B. the higher the price the larger the
quantity produced.

C. if the price of a good rises some firms
will produce less.

D. if the price of a good falls new firms
may enter the market.

. A market supply curve shows

A. the quantity supplied by producers at
different prices.

B. supply for any set of conditions.

C. how prices affect the cost of raw
materials.

D. how the supply of goods is kept in bal-
ance.

Which of the following businesses has
elastic supply?

A. newspaper publishing
B. apple farming

C. hair cutting

D. electricity generating

Which of the following is an example of
a variable cost?

A, rent

B. machinery repair
C. equipment

D. raw materials

The change in output from adding one
more worker is the

A. marginal product of labor.

B. increasing marginal returns.
C. diminishing marginal returns.
D. negative marginal returns.

6. Marginal cost is

A. total revenue minus total cost.

B. total revenue plus total cost.

C. the cost of producing one more unit of
a good.

D. the difference between fixed and vari-
able costs.

7. A producer’s profits are maximized when

A. marginal costs are equal to fixed costs
plus variable costs.

B. marginal costs are less than marginal
revenue.

C. marginal costs result in decreasing mar-
ginal returns.

D. marginal costs are equal to marginal
revenue.

8. Which of the following leads to an
increase in supply?

A. an increase in the cost of raw materials
B. a decrease in the cost of raw materials
C. diminishing marginal returns

D. a change in the law of supply

9. A subsidy is

A. a tax on the production or sale of a
good.

B. a government payment to support a
business or market.

C. a form of government regulation.

D. illustrated by the market supply curve.

10. If sellers expect the price of a good to
rise in the future, they will

A. put more goods on the market
immediately.

B. raise their prices now.

C. store goods now and sell more in the
future.

D. set prices according to the law of
demand.

I e e N e T
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Prices

SECTIOND

DEMAND

® TEXT sUMMARY

A market equilibrinzm is the point at
which quantity supplied and quantity
demanded are equal. At that point, buyers
are willing to buy at the same price and
quantity at which sellers are will-

COMBINING SUPPLY AND

quantity demanded, there is excess
supply. Prices will fall because sellers
need to sell their supply. Whenever there
is excess in supply or demand, market
forces work to create equilibrium,

QEHIE __ ,, 7| ing to sell. This price is the equi- Sometimes governments attempt to

Markeﬁ are im eqni- | librium price. On a graph, the control prices in a market. Governments
librom whent(the equilibrium point is located at may set a price ceiling, a maximum
amount demanded the point where the supply curve  price that can be charged. For example,
is equal to the and the dernand curve intersect. some cities have price ceilings on rental

amount supplied.

A market is said to be in
disequilibrium when the
quantity supplied does not
equal the quantity demanded at a certain
price. When quantity demanded is more
than quantity supplied, there is excess
demand. A price lower than the equilib-
rium price will encourage buyers and dis-
courage sellers. Prices will rise because
sellers hope to increase their profits.
When quantity supplied is more than

apartments. If the price ceiling is lower
than the equilibrum price, there will be
excess demand. Fewer apartments are
offered than people want to rent.

Governments may also set a price
floor, a lowest price that can be paid. An
example is the mimimum wage, the
lowest hourly rate a business can
pay workers. When a minimum wage is
higher than the equilibdum rate, there is
excess supply of labor.

B GRAPHIC SUMMARY: Finding Equilibrium

$3.50
$3.00
Market equilibrium @ $2.50+- _
occurs at the price % : N 1
where the quantity s 32004 - ™
- i | 1
demanded equals the @ $1.50 o
quantity supplied. 2 i
% $1.00- 4.
$.50- e
. | i o §
I I | 1 |
o 50 300 150 200 250 300 350

Slices of pizza per day

H REVIEW QUESTIONS

1. Describe a market in equilibrium. 2. Graph Skills What is the equilib-
rium price and equilibrium quan-
tity of pizza?
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# TEXT SUMMARY

The previous section described disequi-
librium that occurs along a demand or
supply curve. If a price is higher or lower
than equilibrium price, market forces
push prices back towards equilibrium.
Sometimes, however, changes in market
conditions lead to the shift of an entire
demand curve or supply curve. This
means that the quantity demanded
or supplied is now different at all price
levels. These changes also push a market
into disequilibrium, and market forces
tend to bring it back to equilibrium.
Technology, for example, can make a
good cheaper to produce. The earliest CD
players cost about $1,000. As technology
improved, prices dropped. The supply
curve shifted to the right as supply
increased. Producers were now willing to
offer greater quantities of CD players at all

. ) CHANGES IN MARKET
— EQUILIBRIUM

prices. However, quantity supplied was
now greater than quantity dernanded.
Another word for this situation is
surplus. Producers reacted to the surplus
by lowering prices, and eventually price
and quantity reached a new equilibrium.
An outward shift in demand can be
caused by a fad, such as the surge in
popularity of a new toy.
Buyers want more toys
than are supplied, and a
shertage occurs. A shortage
is when quantity demanded
is greater than quantity sup-
plied. During a shortage,
producers and stores tend to
raise prices. The market
price will rise until the quantity sup-
plied equals the quantity demanded,
and a new equilibrium is established.

H GRAPHIC SUMMARY: A Shiftin Supply

Low
price

Technological improve-
ments led to a shift in the
supply ot CD players. On
this graph the shift is rep-
resentad by the curve
marked New supply.
Prices fell and quantity
demanded rose, Jaading
1o a new equilibrium &t
point b.

| ¥l REVIEW QUESTIONS

1. What is the difference between a
surplus and a shortage?

2. Graph Skills Which has the

higher price, point a or point b?

Hadl &IF Sink (-] r
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efficient system for
exchanging goods.

H TEXT SUMMARY

Prices are like signals that send informa-
tion to buyers and sellers. For producers,
a high price is a signal to increase sup-
ply. A low price is a signal to reduce the
supply or leave the market. For buyers, a
low price is a signal to buy, and a high
price is a signal to think before
buying.

Another advantage of prices
is that they are flexible. Prices
can usually change more quickly
than production levels. A
supply shock occurs when
there is a sudden shortage of a
good, such as wheat or gasoline.
Because supply usually cannot be
increased quickly, increasing prices helps
resolve excess demand.

SGlLE) THE ROLE OF PRICES

Rationing is a system for allocating
goods and services using tools other than
price. Centrally planned economies use
rationing, not price, to distribute goods
and services. Rationing is expensive to
administer. It tends to lead to only a few
products, rather than the wide variety we
enjoy in our price-based system,

Prices do not always work efficiently in
markets in which there is not much com-
petition, or in which buyers and sellers do
not have enough information. Another
problem is spillover costs, such as air and
water pollution, that "spill over" onto other
people who have no control over how
much of a good is produced. Producers do
not usually pay spillover costs, and the
extra costs will be paid by consumers.

El GRAPHIC SUMMARY: Price as a Signal

PRODUCERS CONSUMERS
High price B PRODUCE MORE 3 BUY LESS
GREEN GREEN
Low price g PRODUCE LESS R BUY MORE
RED RED

Price acts as a signal for both producers and consumers.

H REVIEW QUESTIONS

1. Why is a change in price, instead
of a change in production, usually
‘used to resolve supply shacks?

2. Diagram Skill How do produc-
ers and consumers'each react'to

higher prices?
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Name Class Date

Test

H IDENTIEVING MAIN IDEAS
Write the letter of the correct answer in the blank provided. (10 points each)

— . 1. A market is in equilibrium when 6. When does a surplus exist?

A. quantity demanded is greater than A.when new products are brought to the
quantity supplied. market for sale
B. quantity supplied is greater than B. whenever prices drop
quantity demanded. C. when there are too few items for the
C. quantity supplied and quantity people who want to buy them
demanded are equal. D.when there is a greater supply of a good
D. the government takes action to bring than people want to buy
it into equilibrium. ___ 7. Which of the following is an example
__ 2. Disequilibrium occurs when of a shortage?
A. quantity supplied and quantity A. Stores cannot sell all the new popular
demanded are not equal. ' toys they have on hand.
B. quantity supplied and quantity B. Manufacturers make to0 many units of
demanded are equal. a popular new toy.
C. prices are higher than quantity supplied. C. Consumers cannot find enough of a
D. there is neither excess supply nor popular new toy in stores.
excess demand. D. Consumers cannot afford to buy a new
— . 3. When there is excess supply, popular toy.
A.prices will tend to tise. ___ 8. How are goods and resources distributed
B. prices will tend to fall. in a free market economy?
C. demand will rise. A. through rationing
D. the government will impose B. through prices
price ceilings. C. through government action

___ 4, Which statement explains why D. through disequilibrium

prices rise in a market? 9, Rationing is a common form of
A. Producers produce a quantity greater distribution in

than consumers want to buy. A. a centrally planned economy.
B. Consumers buy much less of a good B. a free market economy.

than they have in previous years. C. a price-based system.
C. New producers enter the market. D.a market based on competition.

D. There is excess demand in the market. 10. Which of the following is an

5. The minimum wage is an example of example of spillover costs?
A. a price ceiling. A. People buy products by paying illegally
B. a price floor. high prices for them.
C. the action of market forces. B. There is a sudden shortage of goods and
D.market equilibrium. the supply cannot be increased quickly.

C. People have to pay higher prices for
items that are in short supply.

D. A manufacturer pollutes a river and
does not pay the costs for cleaning it.

: e e )
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same good.

A market with these four
conditions meets the eco-
nomic definition of perfect
competition.

= THE BIG IDEA 5

and sellers nf the

Market Structures

H TEXT SUMMARY

The simplest market structure to study is
one known as perfect competition.
In such a market, every firm produces
the same product for about the same
price. Because each firm produces a
small part of the total supply,
no one firm can control the
_ price. 1n order to have perfect

| . competition a market must
meet four conditions. It must
have many buyers and sellers
patticipating. Sellers must offer
fdentical products. Buyers and
sellers must be well informed about the
products. Sellers must be able to enter
and leave the market easily.

Only a few industries come close to
meeting these conditions. Two examples
are the market for farm products and the
stocks traded on a stock exchange.

PERFECT COMPETITION

Factors that make it difficuit for new
firms to enter a market are called barriers
to emfry. Commeon barriers to entry
include start-up costs and technology.
Start-up costs are the expenses an owner
has to pay before opening a new business.
For example, before starting a new sand-
wich shop you would have to rent a store,
buy cooking equipment, and print menus.
Other businesses require technical ability.
Carpenters, pharmacists, or electricians
need training before they can have the
skills they need,

Perfectly competitive markets are effi-
cient. The intense competition in these
markets keeps both prices and production
costs low. A firm that raised its prices
higher than other firms, or experienced
higher production costs, would not be able
to compete.

GRAPHIC SUMMARY: A Perfectly Competitive Market

Number of firms: Many

HNaBABB

Variety of goods: None

Barriers to entry and exit:
None

=

Cowirol over prices:
o %
A0 N\
Q““?/;..
co
Z

#A REVIEW qussrlons

1. What are two common bamriers to
entry?

2. Chart Skifla How much
variety of goods is there in
petfect competition?
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SECTION)D

H TEXT SUMMARY

A monopoly is a market dominated by a
single seller. Instead of many buyers and
sellers, as is the case with perfect competi-
tion, a monopoly has one seller and any
number of buyers. Barriers to entry make
monopolies possible. Monopolies can
take advantage of their monopoly power
and charge high prices. For this reason,
the United States has outlawed monopo-
listic practices in most industries.

The government allows monopolies
in certain industries. A mnatural
monopoly is a market that runs most
efficiently when one large firm provides
all the output. In the local telephone
industry, a monopoly developed
because it was inefficient for more than
one company to build an expensive wire
network. In such cases, the government
may give one company the right to
dominate a geographic area. In return,

MONOPOLY

that company will agree to let the gov-
ernment control its prices.

The government can also grant monop-
oly power by issuing patents or licenses. A
patent gives a company exclusive rights
to sell a new good or service for a specific
time period. A license is a government-
issued right to operate a business. Radio
licenses give a station the right to broad-
cast at a certain frequency.

Unlike firms in perfectly
competitive markets, monop-
olists have control over
prices. However, the law of
demand means that when
the monopolist raises the
price, it will sell fewer goods. So the
monopolist sets a price that maximizes
its profit. This usually means fewer
goods, at a higher price, than would be
sold in a more competitive market.

when it controls an
entire market.

2 GRAPHIC SUMMARY: A Monopoly
Number of firms: Variety of goods:
One None A monopolist dominates its market

because it faces no competition.

Control over prices:
Complete

El REVIEW QUESTIONS

1. Name two ways in which govern-
ment can grant a monopotly.

2. Chart Skills How much
control does a monopolist have
over pricing?

==T1HE BIG 1bEAZ
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tion or o!igopoly.

¥ TEXT SUMMARY

Perfect competition and monopoly are
the two extremes in the range of market
structures. Most markets fall into two
other categories: monopolistic competi-
tion and oligopoly. Monopolistic
competition is a market in
which tany companies sell
products that are simnilar but
not identical. For example,
jeans can differ in brand, style,
and color, Ice cream differs in
taste and flavors. These mar-
kets are called monopolistic
competition because each firm has a kind
of monopoly over its own particular
product. Monopolistic competition exists
in industries where there are low barriers
to entry.

Firms that are monopolistically com-
petitive have slight control over their

Rl ) MonopoListic COMPETITION @
~  AND OLIGOPOLY

piices, because they offer products that
are slightly different from any other
company’s. They also use monprice
competition, or competition through
ways other than lower prices, to compete.
They may offer new colors, textures, or
tastes in their products. They may also try
to find the best location for their services.

Oligopoly is a market dominated by a
few large firms. It can form when signifi-
cant barmriers to entry exist. Examples of
oligopolies in the United States include air
travel, cola, breakfast cereals and house-
hold appliances. Oligopolistic firms some-
times use illegal practices to set prices or to
reduce competition. They may engage in
price fixing, an agreement among firms
to sell at the same or very similar prices.
Price fixing is illegal in the United States
and can lead to heavy penalties.

# GRAPHIC SUMMARY: Comparison of Market Structures

Number of firms

il

Control over prices None Little Same Complete

Rarers v sy e | D o R S compe

Examples Wheat, Jeans, Cars, Public water
shares of stack bocks movie studios |

The two mast common market structures, monopalistic competition and oligopoly, fall between the twa

extremas of perfect competition and monopoly.

- REVIEW QUESTIONS

1. What is the difference hetween
monopolistic competition and oli-
gopoly?

2. Chart Skills How many firms are

typical of an oligopoly?

e e e T s e e e
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B TEXT SUMMARY

Monopoly and oligopoly can sometimes
have negative effects on consumers and
our whole economy. Markets dominated
by only a few large firms tend to have
higher prices and lower output than mar-
kets with many sellers. A firm with
monopoly power can use predatory
pricing. This is the practice of setting
the market price below cost to drive
competitors out of business. Another
way firms try to reduce competition is by
buying out their competitors.

Since the late 1800s, the United States
has had antitrust laws to prevent com-
panies from reducing competition. It is the
job of the Federal Trade Commission and
the Department of Justice’s Antitrust
Division to enforce these laws. The gov-
ernment also tries to prevent mergers that
might reduce competition and lead to
higher prices. A merger is when two or
more companies join to form a single firm.

&l ? REGULATION AND DEREGULATION

In the 1970s and 1980s, Congress
passed laws leading to the deregulation
of some industries. Deregulation is
the lifting or reducing of government
controls over a market. Markets experi-
encing deregulation included the
airline, electricity, banking, railroad,
natural gas and television broadcasting
industries. When it is successful, dereg-
ulation increases competi-
tion and leads to lower
prices for consumers. i
However, it may often [}

cause hardship for employ \ trlu to .promote
' " N co th
ees of companies driven out mpetition through

' antitrust laws and
of business by increased deregulation.
competition,

Antitrust laws strengthen
government control over a market.
Deregulation lcosens government con-
trol. Yet both policies have the same
purpose: to promote competition.

&8 GRAPHIC SUMMARY: Government Actions to Encourage Competition

Year - Event _

1911 Supreme Court breaks up John D. Rockefeller's monopoly, Standard Oil.

1978 Under President Jimmy Carter, federal government ends regulation
of airline industry.

1982 Facing government lawsuit, AT&T agrees to end its monopoly over
local phone service.

2001 President Bush reaches an agreement with Microsoft to end illegal
business practices.

competition in certain industries.

The federsl government has taken several significant actions to increase

Zl REVIEW QUESTIONS
1. What is predatory pricing?

2. Chart Skills In what year did

AT&T agree to break up its local
phone service monopoly?

et e e e e T e e
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Name Class

Test

H IDENTIFYING MAIN IDEAS
Write the letter of the correct answer in the blank provided. (10 points each)

Date

1. A market structure with many sellers and 6. Offering products of different tastes

many buyers is

A.an oligopoly.

B. monopolistic.

C. perfect competition.
D.nonprice competition.

- An example of a barrier to entry is

A.high start-up costs.

B. low start-up costs.

C. a market with imperfect competition.
D.government deregulation.

. A market that is a monopoly has

A.many buyers and sellers.

B. many firms selling slightly different
products.

C. three or four firms dominating the mar-
ket.

D.one seller and many buyers.

. A natural monopoly is a market that
runs most efficiently when it has

A. few sellers and only one buyer.

B. many sellers and many buyers.

C. one large firm providing all output.
D. few government regulations.

. Compared to a market with perfect
competition, a monopoly has

A. lower prices and fewer goods.
B. higher prices and fewer goods.
C. lower prices and more goods.
D. higher prices and more goods.

CHAPTER 7 Guide to the Essentials

10.

and shapes is an example of

A. perfect competition.

B. oligopolistic competition.
C. the law of demand.

D. nonprice competition.

. A market that is an oligopoly has

A. many buyers and sellers.

B. many firms selling slightly different
products.

C. a few firms dominating the
market.

D. one seller and many buyers.

. Which of the following industries

is not an example of an oligopoly?

A. automobile repair
B. cola

C. air travel

D. breakfast cereals

. One role of the federal government'’s

Justice Department is to

A. encourage price fixing.

B. break up monopolies.

C. provide businesses with loans for
start-up costs.

D. eliminate barriers to entry.

In many industries, deregulation has
resulted in

A. safer products.

B. antitrust laws.

C. lower prices for consumers.

D. increased government control.

e
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Business Organizations

¥ TEXT SUMMARY

One of the first decisions entrepreneurs
must make is what kind of business orga-
nization they will have., A busimess
organization is an establishment
formed tc carry on commercial enter-
prise. The most common form of busi-
ness organization is the sole proprietor-
ship. A sole proprietorship is a busi-
ness owned and run by one person.
About 75 percent of all ‘businesses in the
United States are sole proprietorships.
However, since most sole proprietorships
are small, they account for only 6 per-
cent of all United States sales. Your local
bakery, barber shop, and bicycle repair
shop are most likely sole proprietorships.

The biggest advantage of the sole pro-
prietorship is that the owner gets to keep
all profits after paying income taxes.
Another advantage is that sole propri-
etorships are easy to start. They can usu-
ally be opened with a small amount of

%> SOLE PROPRIETORSHIPS

paperwork and legal expense. Owners
also have complete control of their busi-
nesses, and can respond quickly to

changes in the marketplace.

The most important disadvantage of
sole proprietorships is unlimited per-

sonal liability. Liability is the
legal obligation to pay debts. If
the business fails, the owner
may have to sell personal
property to cover those debts.
Another disadvantage is that it
may be hard for sole propri-
etors to find capital to expand
their businesses. It may also be
hard to find good employees.
That is because many small
businesses cannot  afford

= THE BIG 1pEA Z
= LW e ot i
| J 3 ﬂ.wi
are the most.
common form of
business in the
United States.
Owners have both
fuall control and
uniimited liability.

fringe benefits, or payments to
employees other than wages, such as
paid vacation, retirement pay, and

health insurance.

£l GRAPHIC SUMMARY: Sole Proprietorships—Advantages
and Disadvantages

Advantages

" Disadvantages

Ease of starting up

Lack of permanence

Full control

Unlimited liability

Sole receiver of profit

Limited access to
resources and labor

Sole proprietorships offer ownears the advantages and disadvantages that come

with full control of a business.

El REVIEW QUESTIONS

1. Explain why sole proprietorships
generate only 6 percent of sales in
the United States, yet are the most
common form of business organi-
zation.

2, Chart Skills What are the disad-

vantages of a sole proprietorship? |

R 5 Py . s P s o e B e S A S e = it R
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Partnerships vary in the amount
of exposure partners have to
unlimited liability.

el ()

share responsibility
for ronning a
business.

@) PARTNERSHIPS

% TEXT SUMMARY

A paritmership is a business organiza-
tion owned by two or motre persons. The
partners must agree on how profits
and responsibilities are divided. The
most common type of partnership is a
general parinership. Partners in a
general partnership share equally in
both responsibility and liability.
Doctors, lawyers, accountants and
other professionals often form
general partnerships. In a
limited partnership only one
partner is reguired to be a gen-
eral partner. That partner has
control over the business, but
unlimited personal liability for
the firm's actions. Other part-
ners contribute only money. A
newer type of partnership is
the limited liability partnership
(LLP). In this type of partnership all
partners are limited partners and are

shielded from personal liability in cer-
tain situations.

One important advantage of a partner-
ship is that the responsibility for the busi-
ness may be shared. In a successful partner-
ship, each partmer brings different strengths
and skills to the business. Each partner’s
assets, or money and other valuables,
improve the firm’s ability to borrow funds
for operations or expansion. Another
advantage of partnerships is that like sole
proprietorships, they are easy to start.

Partnerships also have disadvantages.
Each general partner is responsible for the
acts of the other partners. Unless the part-
nership is an LLP, at least one partner has
uniimited liability. Like a sole proprietor,
partners can lose their own personal prop-
erty in paying the firm’s debts. Another
potential problem is conflict among the
partners. They need to come to agreement
about business goals and philosophies.

B GRAPHIC SUMMARY: Partnerships and Liability

General Partnership

a Limited liability | equally exposed to

All partners are

I unlimited liability.

TYPES OF PARTNERSHIPS
Limited Partnesship

KL )

Only one partner
is exposed to
unlimited liability.

Limited Liability
Partnership {LLP)

All partners are
limited in their
exposure to liability.

H REVIEW QUESTIONS

1. How does a limited partpership
differ from a general partnership?

2. Diagram Skills Which kind of
partnership offers none of the part- ||
ners profection from unlimited
tiability?

34
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% TEXT SUMMARY

Most large businesses in the United
States are corporations. A corporation
is a legal entity, or being, owned by indi-
vidual stockholders. Each stockholder
has limited liability for the firm's debts,
and can lose only as much as he or she
has invested. Stockholders own stocks,
which represent their share of ownership
in the corporation. Like a person, a cor-
poration pays taxes, can enter into con-
tracts, and can bring lawsuits in court.
All corporations have the same basic
structure. Stockholders elect a board of
directors. The board makes the impor-
tant decisions for the corporation. It also
apppoints corporate officers who run the
corporation.

The most important advantage of the
corporate structure is limiting liability.
Stockholders can only lose the amount
of money they have invested.
Corporations can raise money by selling
stock on the stock market. Corporations

CORPORATIONS, MERGERS,
AND MULTINATIONALS

also borrow money by selling bonds.
Bonds are certificates corporations issue,
promising to repay the money they bor-
row with interest,

As a corporation grows, it may decide
to merge, or combine, with another
company or companies. Horizontal
mergers join two or more firms in the

same market. For example, two
automakers may decide to form
a larger company. Vertical
mergers join two or more firms
involved in different stages of
making the same good or ser-
vice. For example, an automaker
may merge with the company
that supplies it with rubber tires.
Conglomerates combine com-
panies which produce complete-
ly unrelated goods or
Multinational corporations
are corporations that operate
than one country at a time.

which offer Hmited
liability to their
ovwners, individaal
stockholders.

Services.

(MNCs)

in more

El GRAPHIC SUMMARY: Corporations—Advantages and Disadvantages

ADVANTAGES

DISADVANTAGES

+ As owners, stockholders have limited
liability.

« Corporation can sell stocks to raise money.

* Corporations can borrow money by selling
bonds.

¢ Corporations can continue doing business after
death of founders or owners.

Corporations pay a tax on income, and stock-
holders also pay personat income tax on pay-
ments made to them by corporations.

Corporations are difficult and expensive to
start.

Founders may lose control of the company.

Managers and directors do not always act in
the best interest of stockholders.

Corporations are subject to more government
regulations than other kinds of businesses.

A major advantage of a corparation is that it protects its owners from liability.

B REVIEW QUESTIONS

1. Who are the owners of a corpora-
tion?

2. Chart Skills What kinds of tax
payments are associated with a
corporation?
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#E TEXT SUMMARY

A business franchise is a business that is
semi-independent. It pays fees to a parent
company. In return, the business gets the
exclusive right to sell a certain product or
service in a given area. The parent compa-
ny, ot franchiser, develops the products
and business system and helps the local
franchise owners produce and sell their
ptoducts. For a small business owner, a

tions include Iran
chises, cooperatives,
and non-profit

organizations.

franchise has the advantage of a
built-in reputation. However, the
franchise owner must give up
some freedom, and must also pay
feesand even a share of earnings.

A cooperative is a business
organization owned and operat-
ed by a group of people for their
shared benefit. Consumer
cooperatives sell merchandise

to their members at reduced prices.

B GRAPHIC SUMMARY:

1 ) OTHER ORGANIZATIONS

Cooperatives that provide a service
rather than goods are called service
cooperatives. Some service cooperatives
offer discounted insurance, banking ser-
vices, health care, legal help, ot baby-sit-
ting services. Producer cooperatives
are agricultural marketing cooperatives
that help members sell their products.
Nonprofit organizations function
like businesses but do not operaie for
profit. These nonprofit organizations are
usvally in the business of serving society.
Nonprofit organizations include muse-
ums, public schools, and YMCAs. The
government exempts nonprofit organiza-
tions from income taxes. Many nonprofit
organizations operate with partial govern-
ment support. Nonprofit organizations
that promote the interests of particular
industries are called trade associations.

The Relationship between

Franchiser and Business Owner

Franchiser Business

develops the owner pays

product and :}_ for exclusive $
business rights over a

system. given area.

Franchiser may provide:
training, support, standardized
quality, advertising programs,
financial assistance and
centralized buying power.

A franchise owner gets support from a parent company that may include training, standardized quality,
and national advertising, as well as a ready-made reputation.

W FHADTER R Guirda #n tha Eccontiale

H REVIEW QUESTIONS
1. What is a cooperative?

2, Diagram Skills What does a
business owner purchase when
paying a fee to a franchiser?

© Pearmon Education. lnc.. publishing as Pearson Prentice Hal. AR Rights Resarved.
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Name

CHAPTER 8

Class

Date

Test

H IDENTIFYING MAIN IDEAS
Wirite the letter of the correct answer in the blank provided. (10 points each)

1. The most common form of business
organization is

A. the corporation.

B. the sole proprietorship.
C. the general partnership.
D. the franchise.

2. Liability is the

A. necessity to do a lot of paper work.

B. requirement to offer fringe benefits.

C. legal obligation to pay debts.

D. opportunity of the sole proprietor to
keep all profits after taxes.

3. A partnership is a business organization
owned by

A. one or more individuals.

B. two or more individuals.

C. individuals and stockholders.

D. one general partner and many stock-
holders.

4. In a limited liability partnership,
all partners

A. always have no liability.

B. have personal liability.

C. are required to be general partners.

D. are limited from personal liability in
certain situations.

5. Most large businesses are

A. sole proprietorships.
B. general partnerships.
C. corporations.
D. cooperatives.

6. The most important decisions in a
corporation are made by

A. the investors.

B. the stockholders.

C. the board of directors.

D. the founders of the company.

7. One of the ways a corporation can

raise money is by

A. selling stock on the stock market.

B. buying bonds from other corporations.

C. seeking money from the government
for research and development.

D. selling shares to the founders.

8. Which of the following is an example

of a merger?

A. An individual buys a franchise.

B. Two individuals form a partnership.
C. A company combines with a company
that supplies it with raw materials.

D. A company sells bonds to raise money
for expansion.

9, In return for a fee to a franchiser, a

business owner receives the right

A. to sell the franchiser’s stocks and bonds.

B. to run the business in the way he or she
wishes.

C. to form a partnership with the
franchiser.

D. to sell the franchiser’s goods and
services.

10. Museums, public schools, and

YMCAs are all

A, exempt from paying income taxes.

B. completely supported by the govern-
ment.

C promoted by trade associations.

D. supported by professional organizations.

a5 > e e e e e e e e e e e e e
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Labor

TEXT SUMMARY

Economists define the labor force as
nonmilitary workers over 16 who are
employed or unemployed. People who

- ’tem_porary wm-kersvs
the economy shifis

from manufacturing
to services.

are not looking for work, such
as students, full-time parents,
and retirees, are not consid-
ered part of the labor force.
One trend in the U. S, economy
is the shift from manufacturing
to services. Production of ser-
vices is increasing faster than the

production of goods—especially
in computer-related fields.

Another important trend is the increas-
ing numbers of women in the workplace,
Changing social roles have encouraged
many women to gain education and
employment skills.

Total civilian,
noninstitutionalized
14.5. population

L) LABOR MARKET TRENDS

A third trend is the rise of contingent
employment, or temporary work. Firms
use contingenct employment to gain
flexibility and to save money. It is easier to
discharge temporary workers than perma-
nent employees, so firms can quickly
adjust the number of workers to increase
or decrease output.

Arperican workers are paid well com-
pared to people in some countries. However,
the average eamnings of college graduates
has increased, while the average earnings of
those without college degrees has decreased
by a large amount. One reason for this is
that competition from foreign companies
has decreased the dernand for low-skilled
workers.

& GRAPHIC SUMMARY: Composition of the U.S. Labor Force

Total U.5. population

The Bursau of Labor Statistics
defines who is in the U, 5.
labor force.

B REVIEW QUESTIONS

my is growing faster, manufactur-

ing or services?

1. Which part of the American econo- 2. Diagram Skills Which two

«categories make up the total
U.S. labor force?

38
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g TEXT SUMMARY

In a competitive labor market, the price
of labor—the wage rate—is determined
largely by supply and demand. Workers
are paid according to their
productivity, the level of output
produced. Competitive demand for labor
drives wages up. Some firms attempt to cut
labor costs by substituting machines
for people. Labor supply comes from
households. The higher the wage, the
larger the quantity of labor supplied. The
equilibrium wage is the wage rate that

R, ) LaBOR AND WAGES

requires specialized skills and training.
Professional labor requires advanced
skills and education. Workers with
higher skill levels usually receive higher
wages. In addition, union members tend
to earn higher wages than nonunion
workers in similar jobs.

In the 1960s, Congress outlawed
wage discrimination based on gender or
race. Yet women still earn
about 75 percent of men's

i in -
LR AT,

earnings, and minorities |* yn shelahor ma

produces neither an excess supply of work-  tend to earn lower pay than wages are determined
ers nor an excess demand for workers. whites. The glass ceiling,
Jobs can be classified into four skill an unofficial and invisible
levels. Unskilled labor requires no  barrier in some workplaces,
specialized skills or training. Semi- prevents some women and
skilled laber requires minimal special-  minorities from advancing in certain
. ized skills and education. Skilled labor  companies.

meostly by supply and
demand.

H GRAPHIC SUMMARY: Median Earnings of U. S. Workers

men
! White men

$10,000  $20000  $30,000  $40,000

Sowreat 115, Consus Bureau Median annual earnings

Zl REVIEW QUESTIONS

1. What determines wage rates in the 2. Graph Skills According to the
’ labor market? graph, which group has the
highest earnings?

AV A R TP e 1= il = T - i @ SR i S = o e e — A e e i e ]
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B TEXT SUMMARY

The labor union movement, which took
shape over more than a century, was large-
ly a response to changes brought on by the
Industrial Revolution and the dangerous
conditions and long hours of new factory
jobs. Samuel Gompers, who founded the

Rall: ) ORGANIZED LABOR

In a union workplace, management
and labor periodically come together to
negotiate employment contracts for wages
and benefits, working conditions, and job
security using the process of collective
bargaining. If a deadlock occurs, the

THe BIG 1pEA American Federation of Labor in  union members may vote to strike—a
seaSeemeee | 1886, focused on three reforms:  process that may be damaging to both
l -ﬂ'“t. r_ B

abor anions were higher wages, shorter hours, and  labor and management. Sometimes the
created to improve safer work environments. Union  two sides agree to mediation in which a
working conditions membership peaked in the 1940s.  third party is asked to find a solution both
for their members. In 1947, in an effort to cutb union  parties will accept. However, mediation
power, Congress passed the Taft-  is not binding. If it fails, the talks may go
Hartley Act, which allowed states  to arbitration in which the third party’s
to pass right-to-work laws. Since the 1940s,  decision is legally binding.

overall union membership has dropped to

13.5 percent of the labor force.

H GRAPHIC SUMMARY: Economic Changes Affect Unions .

MANUFACTURING MORE WOMEN JOBS MOVE

DECLINES

WORK

SOUTH

From 1959 to 2003,
manufacturing fell
from 28% to 13%

of GDP.

From 1960 to 2003 the
number of women in the
labor force increased
from 37% to 47%.

From 1958 to 1998
the North lost 18%
and the South
gained 46% of
manufacturing jobs.

Historically, most
union jobs are in
manufacturing.

Women tend to work
in non-union white-
collar jobs.

HistoricaIIY, the
South is less
friendly to unions.

These structural changes in the U, 5. economy may have contributad to reducing membership.

El REVIEW QUESTIONS

1. What is the purpose of a labor 2. Chart Skills Which of the three
union? economic changes appears to have
had the greatest influence on
union membership? .
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Name

Class

Date

CHAPTER 9

Test

B IDENTIFYING MAIN IDEAS

Wirite the letter of the correct answer in the blank provided. (10 points each)

1. What was one reason union membership

rose in the 1930s?

A. Congress outlawed the closed shop.
B. Congress passed pro-union laws.

C. The AFL and CIO reunited.

D. The AFL was founded.

. A labor union is an organization that

A. requires all workers to become
members.

B. tries to improve wages and benefits for
its members.

C. has been declared illegal by the courts.

D. usually has the same goals as a com-
pany’s management,

. Collective bargaining means that

A. representatives of unions and com-
panies negotiate new contracts.

B. workers go out on strike to gain their
objectives.

C. the courts decide how much companies
will pay workers.

D. the unions always gain all their goals.

. Which of the following people is

considered part of the labor force?

A. an army sergeant

B. a 14-year-old with an after-school job

C. a person who has lost a job but is
looking for one

D. a mother raising her children at home

. What is meant by productivity?

A. the level of output produced

B. the kind of product a company makes
C. the wages paid to a worker

D. replacing workers with machines

6. When is there an equilibrium wage?

A. when Congress sets a new minimum
wage

B. when the demand for labor exceeds the
supply

C. when there is no excess in the demand
for workers or in the supply of workers

D. when the supply of labor exceeds the
demand

. Which of the following people is likely

to earn the highest wage?

A. an unskilled worker
B. a semi-skilled worker
C. a skilled worker

D. a professional worker

. What type of work is growing fastest in

the United States?

A. heavy manufacturing
B. information-related
C. agriculture

D. teaching

. Another name for temporary worik is

A. contingent employment.
B. service employment.

C. the glass ceiling.

D. unskilled labor.

. Which of the following most accurately

describes the change in average weekly
earnings since 1980?

A. Average weekly earnings have dropped
for everyone.

B. Average weekly earnings have risen
sharply for everyone.

C. Average weekly earnings have risen for
college-educated workers.

D. Average weekly earnings have soared
for people without college degrees.
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(| Money s

et

Money has three
basic uses. It enables
people to exchange
gooads and services.
it provides a way to
compare prices of
goods and services,
it alows people to
store value if they
hold on to it instead
of using it.

medinm ‘Gf ex
a unit of account,
and a store of value.

Money and Banking

MONEY

SECTIDl\.lj_:."‘l?ﬂé

H TEXT SUMMARY

Money is anything that serves as a
medium of exchange, a unit of account
and a store of value. A medimm of
exchange is anything used to
" measure value during the
exchange of goods and ser-
vices. As a nnit of account
money is a way to compare the
value of goods and services.
Money can also be used as a
store of value. This means
money keeps its value if you hold on to it.
The coins and paper bills used as
money in a society are called curremncy.
Currency must have six characteristics:
durability, portability, divisibility, uniform-
ity, scarcity, and acceptability. It must
have durability, or be able to withstand a

lot of use. It must have portability, or be
easily carried and transferred. It must be
divisible, or easily divided into smaller
units. It must have uniformity, meaning
that people must be able to count and
measure money accurately. Currency
must exhibit scarcity, meaning it must
have a controlled supply. Finally, it must
have acceptability, the ability to be
accepted by all people in society.

Representative money represents an
object of value for which it can be
exchanged. For example, paper receipts for
gold or silver were an early form of repre-
sentative money. The United States today
uses fiat money. This type of money has
value because the government states that it
is an acceptable means to pay debts.

) GRAPHIC SUMMARY: The Three Functions of Money

H REVIEW QUESTIONS

1. Explain the difference between
Tepresentative money and fiat
money.

2. Chart Skills Which are the three

functions of money?
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& TEXT SUMMARY

A bank is an institution for receiving,
keeping, and lending money. In 1791,
Congress set up the Bank of the United
States. It lent money to the federal govern-
ment and issued bank notes, a form of rep-
resentative money backed by gold and
silver. The Bank brought stability to
American banking. However, many people
were opposed to it. They worried that a
centralized bank would respond only to
the needs of wealthy individuvals and large
businesses. It ceased to exist in 1811, when
its charter, or license, expired. A second
central bank had the same fate, expiring in
1836. The period between 1837 and 1863
is known as the Free Banking Era. This
period was dominated by state-chartered
banks. Many did not have enough gold
and silver to back their paper money.

&L ) THE HISTORY OF AMERICAN
BANKING

During the Civil War, Congress
enacted important bank reforms. These
laws gave the federal government 1HE BIG 1DEA
the power to charter banks. : :
Banks were now required to hold
adequate gold and silver reserves.
The government also established
a uniform national currency.

In 1913, Congress established
the Federal Reserve System. it
served as the nation’s first true
central bank, or bank that can
lend to other banks in tmes of
need. In the 1930s, the severe economic
decline called the Great Depression led
to new laws regulating banks. One estab-
lished the Federal Deposit Insurance
Corporation (FDIC), which insures cus-
tomer deposits if a bank fails.

£l GRAPHIC SUMMARY: Developments in American Banking

Date Development

179 First Bank of the United States is established. »
18111816 Pariod of instability foflows expirstion of First Back's chartes. The modern American banking
1816 | Second Bank of the United States reestablishes stabiliy. :’:‘:’:atn?":f‘:hﬂ'::"‘ﬁw""
L -] aral Heserve
LA mmmw Bank System in 1913 and the Great
1561;;863 v Civit War makes clear the need for .a—l;;tt‘:t_ mo:e;r; ;d;;nklng system Depression reforms of 1933.
1863-1864. Naﬂomlﬂankhgklsqﬂmand‘lmm :
2 nstional banking system and unfform nationsl aureney,
1907 Panic of 1907 leads to creation of the Federal Ilesewe System
1913 hmmmmmmmm
1929 The Great Depression begins.
1933 President Roosaveit helps restors confidence In the
#3 nation's banks by establishing the FOIC <
1'9__805 i Periad of deregulatmn, 5& l.'s fm:e bankruptdes.
20008 I Mmgehnlﬁyahwmdeadsdm
H REVIEW QUESTIONS
1. What is the purpose of the Federal 2. Chart Skills What events led to
Deposit Insurance Corporation? the creation of the Federal Reserve
System?
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to manage their
money.

Although banks use
the money they get
from depositors for
loans, they are
required hy law to set
aside a certain amount
of money as reserves,

THE BIG IDEAJ‘W

it easier for people

SECTION 3)

B TEXT SUMMARY

The money supply is all the money avail-
able in the United States economy. The
money supply is divided into categories
called M1 and M2. M1 is money that peo-
ple can easily use to pay for goods and
services, such as currency and deposits in
checking accounts. These are
assets that have liquidity, which
means they can be used as cash or
easily turned into cash. M2 con-
sists of all the assets in M1 plus
several other assets which have
less liquidity, such as savings
accounts and money market
mutual funds, These are funds
that pool money from small
investors to purchase government
or corporate bonds.

The basic service banks provide is a safe
way for people to store and save money.

i GRAPHIC SUMMARY:

BANKING TobpAY

Banks offer savings accounts, checking
accounts, money market accounts and cer-
tificates of deposit. Most of these accounts
pay interest, the price paid for the use of
borrowed money. Banks also provide loans,
mortgages, and credit cards. A mortgage
is a loan used for real estate, When banks
lend money, they make a profit by charg-
ing interest. The borrower also has to repay
the principal, the amount borrowed.
Computers are rapidly changing the
world of banking. Automated Teller
Machines (ATMs) are computers that cus-
tomers can use to deposit roney, withdraw
cash, and obtain information. Many peo-
ple are starting to use the Intemet to han-
dle their finances. A growing number of
finandial institutions allow people to check
account balances, transfer money between
accounts, and pay their bills by computer.

How Banks Make a Profit

Money leaves bank

# REVIEW QUESTIONS
1. What are inciuded in the two
categories of the money supply?

2. Diagram Skills: What are the three
ways that money enters a bank?

4,
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P

Name

Date

Test

H IDENTIFYING MAIN IDEAS
Write the letter of the correct answer in the blank provided. (10 points each)

1.

w

o

© Pearson Education,

Which of the following is NOT a use
of money?

A. as a medium of exchange
B. a unit of account

C. a store of value

D. a means of barter

Uniformity of currency means that it is

A. easily divided.

B. easy to count and measure.

C. accepted by everyone in society.
D. scarce.

Representative money gets its value
from the fact that

A. it represents objects of value for which
it can be exchanged.

B. it is backed up by silver or gold.

C. the government states that it is an
acceptable means to pay debts.

D. it is a valuable commodity.

The United States today uses which
kind of currency?

A. representative money
B. fiat money

C. scarce money

D. gold and silver

A bank is an institution

A, owned by merchants.

B. that collects taxes for the government.

C. for receiving, keeping, and lending
money.

D. that regulates interstate commerce.

i

In¢., publishing as Pearson Prentice Hall, Ab Righls Reserved.

6. The Free Banking Era between 1837

and 1863 was dominated by

A. federal banks.

B. state-chartered banks.

C. savings and loan banks.

D. the Bank of the United States.

7. The nation’s first true central bank

was the

A. Federal Reserve System.
B. Federal Deposit Insurance Corporation.
C. Bank of the United States.
D. federally-chartered bank of the
Civil War.

8. Assets that have liquidity are

A. easy to borrow or lend.

B. easy to convert to silver and gold.
C. easy to turn into cash.

D. difficult to turn into cash.

9. The most basic service a bank provides is

A. a safe way to store and save money.
B. to pay interest.

C. to provide credit cards.

D. to provide mortgages.

' 10. ATMs are computers that are

A. used to buy merchandise on the
Internet.

B. used to obtain mortgages.

C. used to make long-distance telephone
calls.

D. used by customers to conduct their
banking business.
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The financial system W . Banks .
makes possible the trans- Finance companies
fer of money between a3 Mutual funds BORROWERS

savers and borrowers.

THE BIG IDEA

is made possible by’a
financial system of
savers, borrowers,
and intermediaries.

B TEXT SUMMARY

Investinent promotes economic growth.
Investment is the act of redirecting
resources from being used today so that
they can create future benefits. The
financial system makes
investment possible by allowing
the transfer of money between
savers and borrowers. Savers are
households and businesses that
lend out their savings.
Borrowers are governments and
businesses who use the money
they borrow to build roads, fac-
tories, and homes. Borrowers
may also use these funds to develop new
products or provide new services.
Financial intermediaries are insti-
tutions which help channel funds from
savers to borrowers. Examples include
banks and mutual funds, funds which
pool savings from many people and

¥ GRAPHIC SUMMARY:

invest this money in different ways.
Financial intermediaries provide three
major advantages to investors. They
reduce risk'by helping people invest in a
variety of opportunities. The idea of
spreading out investments to reduce risk
is called diversification. Financial
intermediaries also provide information
and liquidity to investors.

Saving and investing involves trade-
offs. For example, savings accounts have
very low risk, and are liquid, but they also
have a low return. Return is the money,
such as interest, an investor receives above
and beyond the sum of money initially
invested. An investment with higher risk
or less liquidity usually offers a higher
potential return. Investors will be more
tempted to take on more risk, or to give up
liquidity, if they have a chance of earning
more money on their investment.

Market Supply Curve

Households
Businesses

FINANCIAL
INTERMEDIARIES

Governments
Businesses

2 REVIEW QUESTIONS

1. How does a financial system make
investment possible?

2. Diagram Skills What are three
examples of financial intermedi-
aries?

a6
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H TEXT SUMMARY

Bonds are loans that the government or
a corporation must tepay to an investor.
Bonds usually pay a fixed amount of
interest at regular intervals for a set
amount of time. At maturity, the end
of that period, the issuer repays the par
value, or the original amount of invest-
ment, to the bondholder.

Investors like bonds because they are
good investments and usually have low
risk. However, because bonds are low-risk
investments, their returns are often less
than those of other investments. Issuers
like bonds because once the bond is sold
interest rates on that bond will not go up
or down. However issuers must make
fixed interest payments and repay the
principal when due—even in bad years.

There are several types of bonds.
Savings bonds are issued by the United

H GRAPHIC SUMMARY:

BoNDS AND OTHER
FINANCIAL ASSETS

States government. The United States
Treasury Department issues treasury
bonds, and state and local governments
and municipalities issue municipal
bonds. Interest on government-issued
bonds is exempt from certain taxes,
Corporations sell corporate bonds to
raise money to expand their businesses.

Other types of financial
assets include certificates of
deposit (CDs) and mutual
funds. Markets for financial
assets are often classified
according to the length of
time for which funds are
lent. Capital markets are
markets in which meney is
lent for longer than a year. Money mar-
kets are markets in which money is lent
for less than a year

assets.

money by selling bonds
and other financial

Types of Bonds

TYPE ISSUER RISK TAX EXEMPTION USED FOR
Savings and U.S. Government |Very low Exempt from Federal government
Treasury Bonds state and local taxes | activities
Municipal State and Low Exempt from income | State and local govern-
bonds local governments taxes at federal level | ment activities

and in issuing state
Corporate Corporations Moderate Not tax exempt Expansion of businesses
bonds
Junk bonds Corporations High Not tax exempt Finance corporate takeovers

Bonds help businesses expand and governments build public works. There are different kinds of bonds to
serve different needs and different kinds of investors.

H REVIEW QUESTIONS

1. How is interest on bonds usually
paid?

2. Chart Skills What is one purpose f
of junk bonds?
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8 TEXT SUMMARY

By selling stock, corporations raise the
money that is necessary to start their busi-
nesses and keep them growing, Investors in
stocks may make a profit in two ways: by
receiving dividends, a payment rmade by
corpotations to stockholders;
Bl and by selling the stock for more
yi =} than they paid for it. The differ-
- | ence is called a capital gaim.
However, purchasing stock is
risky. The stock price may
decrease. Investors who sell their
stock for less than they paid for it
experience a capital loss.
- Stock is bought and sold in
markets called stock exchanges. When
people talk about "the stock market” they

EA j=o

markets called stock
exchanges.

THE STOCK MARKET

usually mean the New York Stock
Exchange (NYSE), the largest in the coun-
try. The performance of the NYSE is often
measured by the performance of the few
stocks included in the Dow Jones
Industzial Average, or "The Dow." When
the stock market rises steadily over a peri-
od of time, a bull market exists. When
it falls for a period of titne, people call it a
bear market. During the bull market of
the 1920's, there was a great amount of
speculation, high-risk investment with
borrowed money in hope of big returns.
This period ended in the stock market col-
lapse called the "Great Crash” of October
1929. Another great bull market occurred
in the 1990s and ended in 2000.

H GRAPHIC SUMMARY: Milestones in the Dow Jones
Industrial Average, 1929-2005

11,000 — .
» 10,000 March 1999 H\;\,
o 11,000
@ 9,000 8,000 o riy1999
[-T] July 1987
= 8,000 ] .
Lu 5,000 3.000
B 7000 Oct. 1996 - 2RO
= 7,000
g 6.000 2,000 |y Feb. 1997
2 5000 a1 i s :
= June 1932 e * 5,000
% 4,000 low after 3,000 Nov. 1995
2 " Great Crash April 1991 °
S 3,000{ 38 ya o
Sept. 1929 Jan, 1987
2 2,000( peak before / — yhoeo : .
G ¢ V.
A 4, opplisaLiesh March 1956 e,
T A e R D —
The Dow Jones Industrial 1930 1940 1950 1960 1970 1980 1990 2000
Average climbed steadily YEAR
since the Great Depression
o the 1930s before rising | .
sharply in the bull market | &3 REVIEW QUESTIONS
of the 1990°%.

1. What is the difference between a
capital gain and a capital loss?

2, Graph Skills When did the Dow
Jones Industrial Average reachits
lowest point after the Great Crash?
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Name Class Date

CHAPRTER 11 TeSt

El IDENTIFYING MAIN IDEAS

Write the letter of the correct answer in the blank provided. (10 points each)

1. Investment is the act of 7. Which of these bonds are issued by
A. depositing money in a savings account. the United States government?
B. redirecting resources from being used A. corporate bonds
today so they can create future benefits. B. savings bonds
C. using resources for current needs. C. junk bonds
D. developing new products. D. municipal bonds
2. A financial system brings together 8. Investors who sell stocks for less
A. savers and borrowers. than they paid for them experience a
B. savers and consumers. A. capital gain.
C. banks and mutual funds. i B. capital loss.
D. governments and businesses. C. return on investment.

3. The purpose of a financial intermediary D. negative dividend.

is to help channel funds 9. When the stock market falls over a

A. from one bank to another. period of time, it is known as a
B. from saving bonds to building projects. A. bear market.

C. from savers to borrowers. B. bull market.

D. from stocks to bonds. C. crash.

D. depression.

___ 4. Which of the following is a reason
for diversification? _ 10. Speculation is
A. to get the highest possible retum A. low-risk investment with borrowed
B. to get the most dividends money in hope of small returns.
C. to eliminate risk B. high-risk investment with borrowed
D. to reduce risk money in hope of big returns.

C. investment of large amounts of

5. Bonds a
ones are money in mutual funds.

A. lqans. D. diversifying purchases of stock
B. dividends. into many different kinds of
C. stocks. companies.

D. certificates of deposit.

6. A bond’s par value is generally repaid
A. after 30 years.
B. when the lender demands it.
C. at maturity.
D. when interest rates change.

RN == e e e
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H TEXT SUMMARY

Economists study economic performance
using matiopal imcome accounting,
a system of collecting statistics on the econ-
omy. The US. Departinent of
Commerce collects this data in
the form of National Income

. THE BIG 1DEA

Economists monitor and Products Accounts (NIPA).
the nation's economic The most important NIPA
performance using measute is gross domestic
gross domestic product (GDP), the dollar

product (GDP) and

vajue of ali final goods and
other measures.

services produced in a coun-
try's borders in a given year.
GDP does not include imtermediate
goods, goods used to produce final
goods. For example, the price of a new
house that is sold is included in GDP, but
not the nails and lumber used to build
that house. GDP includes goods produced
in the country by a foreign company, but
not goods that an American company
produces in another country.

Gross Domestic Product and Growth

Gl ) Gross DoMESTIC PRODUCT

Changing prices can distort GDP. To
comrect this, economists determine real
GDP, GDP expressed in constant, or
unchanging, prices.

Another important NIPA measure is
gross mational product (GNP). GNP
includes income earned by U.S. companies
outside of the country, but does not include
the income eamed by foreign fitms doing
business in the country.

As you might expect, supply and demand
affect GDP. Economists caiculate the price
level, the avesage of all prices, to determine
aggregate supply, the total amount of
goods and services in the economy available
at all possible price levels. Aggregate
demand is the amount of goods und
services in the economy that will be
purchased at all possible price levels. The
intersection of aggregate supply and aggre-
gate demand on a graph indicates the equi-
librium price level of the economy.

GRAPHIC SUMMARY: Measurements of the Macreconomy

[T B S SRS SRR

Net National
Product

Various measures
are used by
economists to
track changes in —

== most business taxes

the nation's - :ﬁrun’ income tanes
economy. = sodial searity

= individual income taxes ==

- income earned by foreign ...
firms and foreign citizens ™
located in the U.5.

Net National
i Product
National Income

A income carned outside
+ u.S. by U.S. firms and
citizens
Gross National [ ‘Ql"‘dﬂm of kD
Product . raphal equipmant -

Gross National
Product

Disposable
Personal Income

El REVIEW QUESTIONS
1. What is GD¥P?

2. Diagram Skills Expfain the differ-

ence between gross domestic product
and gross national product.
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E TEXT SUMMARY

A business cycle is a period of eco-
nomic expansion followed by a period
of contraction. Business cycles are major
changes in GDP above or below normal
levels. Business cycles have four phases.
Expansion is a period of economic
growth, as measured by a rise in real
GDP. The peak is the height of expan-

&l ) BUsINEsS CYCLES

For example, increased business invest-
ment usually leads to increased output
and jobs, helping to increase GDP and
expand the economy. However, a drop in
business spending reduces output and
income, which may lead to a decline in
GDP. Economists study these factors
in order to predict the next turn of the

sion, when real GDP stops rising. A  business cycle.
contractiom, marked by falling real Economic activity in the BIG
GDP, follows the peak. The trough is  United States has followed a \_ SIE =t ID E %
the contraction's lowest point, when  pattemn of cycles. The Great Policymakers study
real GDP stops falling. A contraction  Depression, which began in business cycles to try to
that lasts for at least 6 fnoqths is called 1929, was the most seyere predict the next phase
a recession. A depression is alongand economic downturn. Since of the economy.
severe recession. then there have been several

Business cycles are affected by four main  recessions, including short
factors: business investment, interest ones in 1991 and 2001. Following the
rates and credit, consumer expectations, 2001 recession the economy entered a

‘ and external shocks that are unexpected.  period of slow and uneven growth.

% GRAPHIC SUMMARY: Tracking a Business Cycle

QEAKk

four phases, which are
measured by the rise or

0O
2
A
ﬂ Business cycles have
v
C\
7, fall of the GDP.

TR ouf"\

H REVIEW QUESTIONS

1. Explain how business investment 2. Diagram Skills What happens
after a peak in a business cycle?

. may affect business cycles.

A e e e e e e T e ey
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that tends to raise
living standards,

8 TEXT SUMMARY

The basic measure of a nation's economic
growth rate is the percentage change of
real GDP over a given period of time. A
nation's population tends to grow. Real
GDP must keep up with the population
growth rate. The best measure of a
nation's standard of living is real
GDP per capita. That divides
the nation's real GDP by the
number of people it has (per
capita means per person). Real
GDP per capita lets economists
compare economies for different
time periods and different
nations.

Physical capital contributes
to an economy's output and aids eco-
nomic growth. Capital deepening, the
process of increasing the amount of
capital per worker, is an important

) Economic GrowrH

source of growth in modern economies.
Increases in human capital also lead
to economic growth. Better educated
_workers can produce more output per
hour of work.

An economy increases its capital
through saving and investment. Saving is
income that consumers do not spend to
purchase goods and services. Money that is
saved, which may be held in a bank, is then
available for investmment. The savimgs
rate is the proportion of disposable
income spent to income saved. In the long
run, a higher savings rate means more
growth in real GDP.

Besides capital deepening, the other
key source of economic growth s
techmnological progress. This is an
increase in efficiency gained by producing
more output without using more inputs.

H GRAPHIC SUMMARY: How Saving Leads to
Capital Deepening

Ishawna's income: $30,000 |

{525,000 spent] | 55,000 saved |

The money people save
bacomes available 1o
businesses for investmant.
Higher savings leads to
highet output, raising GDP
and living standards.

7 N\

$3.000 in investments
{stocks and other
funds}

$£2,000 in “rainy day”

bank account

i

i

Brokerage lends
Shawna's money to
firms in forms such as

loans and mortgages

Rank lends Shawna's

forms such as loans

money ta firms in

and mortgages

N

4

on business capital

Firms spend money
investment

&1 REVIEW QUESTIONS
1. What is capital deepening?

2, Diagram Skills How do firms
make use.of borrowed money?
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Name

C

Date

HAPTER 12

Test

H IDENTIFVING MAIN IDEAS

Write the letter of the correct answer in the blank provided. (10 points each)

1.

n Edl L s

The most important measure in
national income accounting is

A. intermediate goods.

B. final goods.

C. gross national product.
D. gross domestic product.

Real GDP

A. distorts the price level in the GDP.
B. expresses GDP in constant prices.
C. measures only intermediate goods.
D. is another term for GNP.

. Which of the following is included

in GDP?

A. an intermediate good

B. A service produced and used in
another country

C. a fish that you catch and eat yourself

D. a fish that you buy at a store

. The average of all prices in the economy

is the

A. aggregate supply.

B. aggregate demand.

C. price level.

D. gross national product.

. What is a business cycle?

A. a period of increased economic growth

B. a period of economic growth followed
by economic contraction

C. the amount of time it takes a business
to produce its products

D. a dangerous time for all businesses

6. The period in a business cycle when real

GDP stops falling is

A. expansion.
B. peak.

C. contraction.
D. trough.

7. What is a recession?

A. a period when real GDP falls for at least
6 months

B. a long and severe depression

C. a very mild and short expansion

D. a period of when the economy is nei-
ther expanding nor contracting

8. What is the best measure of a nation's

standard of living?

A. real GDP per capita
B. population growth
C. savings

D. national income

9. An increase in capital is called

A. human capital.

B. the savings rate.
C. capital deepening.
D. economic output.

___ 10. Technological progress leads to

A. an increase in efficiency.

B. a decrease in efficiency.

C. aloss of interest in human capital.
D. lower savings rates.
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Economic Challenges

CHAPTER.
3 E 5

UNEMPLOYMENT

H TEXT SUMMARY
Economists examine four kinds of unem-
ployment. Frictional unemployment

occurs when people are in
gt E BIG dDIE A_. 7 between jobs or returning to

The amount of unemployment is an
important clue to the health of the
nation’s economy. The federal govern-
ment tracks the unemployment rate,

i The nmount aﬁz& the work force after a petiod  or the percentage of the nation’s labor
ofnnemployment ave m | ©Of not working. Seasomal force that is unemployed. To determine
measure of the health unemployment occurs in  the unemployment rate, the Bureau of

of the entire economy. industries that slow or shut  Labor Statistics polls a large sample of

down for a particular time of
the year, such as after a har-
vest or 2 busy holiday season. Strmctuaral
unemployment happens when workers’
skills do not match the jobs that are avail-
able. For example, new technology may
cost jobs in industries that rely on
older ways of producing goods. Cyclical
unemployment occurs during recessions,
when the demand for goods and services
drops. The resulting slowdown in produc-
tion causes the demand for labor to drop,
and comparnies lay off employees.

the population every month.

Since fricHonal, seasonal, and structural
employment occur even in an economy
that is working properly, economists
expect some unemployment. An unem-
ployment rate of 4 to 6 percent is consid-
ered full employment, the level of
employment reached when there Is no
cyclical unemployment. However, some
people with jobs are underemployed,
meaning that they work part time when
they want full-time jobs, or work at jobs
that are below their skills.

A GRAPHIC SUMMARY: Unemployment, 1968—2004

f "1.- 1‘-'1‘-"’ 3

After a recession in 1991,
the unemployment rate

dropped throughout much F
of the 1990s and rose in
the early 2000s.
18 Fﬂ ﬂf"}ﬁ "']r A8 ‘
ISGB 1972 196 1980 1884 1988 1992 1936 2000 2004  source: .S, Orpatmant
Y“r \ of Labor
e - P

Z REVIEW QUESTIONS

1. Why do economists expect there
to be some unemployment in the
economy?

2. Graph Skills What was the highest
unemployment rate between 1968
and 20047 In which year did it occur?

e e e A e e e S " P
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B TEXT SUMMARY

Inflatiomn is a general increase in prices.
In a period of inflation, as prices rise, the
same amount of money buys less.
Inflation reduces people’s purchasing
power, their ability to buy goods and
services. To track inflation, economists
use a price index, a measurement that
shows how the average price of a stan-
dard group of goods changes over time.
The best known is the Consumer Price
Index (CPI). The CPl measures the
prices of a market basket—a represen-
tative collection of goods and services
used by a typical urban consumer
Economists will calculate the change in
the CP1 from year to year to determine
the inflation rate, the percentage
change in prices over time.

Economists offer three reasons for why
inflation begins. The quantity theory
states that too much money in the
economy leads to inflation. According to

B GRAPHIC SUMMARY:

Wages

Consumers
demand higher wages
to cover costs.

Consumers
face higher
prices.

Producers
raise prices to
cover costs.

increase.

Labor market
tightens.

1) INFLATION

the demand-pull theory, inflation
occurs when demand for goods and
services exceeds existing supplies. Finaily,
the cost-push theory states that
inflation occurs when producers raise
prices in order to meet
increased costs for labor and
raw materials. Cost-push
inflation can lead to a
wage-price spiral. This is
the process by which increas-
es in one type of prices can
cause other prices to rise.
Typically, when unem-
ployment falls to very low levels, inflation
tends to increase, The supply of available
workers shrinks and wages rise. In the
early 2000s, the economy had a period of
slow growth. Some econormists predicted a
period of deflation, or a sustained drop
in the price level. The economy recovered,
however, and inflation remained low.

THE BIG IDEA g

Tracking a Business Cycle

This diagram shows one
example of the wage-
price spiral. Rising
wages can push up the
inflation rate.

Wages rise.

Producers
face higher
lahor costs.

8 REVIEW QUESTIONS

1. How do economists track
inflation?

2. Diagram Skills What causes
producers to raise their prices?

T e L R T T )
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| of the

economy,
of people remain

poor.

H GRAPHIC SUMMARY:

BL) POVERTY

2 TEXT SUMMARY

The government defines a poor family as
one whose total income is less than the
amount needed to satisfy minimal needs.
The U.S. Census Bureau determines the
poverty threshold, the income level
below that which is needed to support a
household or family. This thresh-
:; old varies with family size. In

<1 2004, the threshold was $12,490
" | fora single parent with one child,
and $18,850 for a family of four
with two children. The poverty
rate is the percentage of people
who live in households below the
poverty threshold. The poverty
rate varies among different groups. Among
African Americans or Latinos, it is twice as
high as for white Americans.

The causes of poverty include
unemployrment, lack of education, and

discrimination based on race and gender.
Many poor people live in areas such as
inner cities or isolated rural areas, where
there are few high-paying jobs. Other
causes of poverty include economic stow-
downs and the increasing number of
single-parent families.

The United States has millions of poor
people, but it also has the world’s highest
per capital GDP. This is because income
distribution, the way income is distsib-
uted among the population, is unequal.
The richest 20 percent of the population
has more than 13 times the income of the
poorest 20 percent. The government
spends billions of dollars on programs
designed to reduce poverty. Emterprise
zones, for example, are low-employment
areas where companies can locate free of
certain taxes.

Poverty Rates for Different
Population Groups

Families in some groups
are more likely to have
incomes betow the poverty
threshold.

H REVIEW QUESTIONS i

1. What is the poverty threshold? 2. Graph Skills What is the poverty .
rate for people under 182 For

female-headed households?

e i o e e e e e e s S Lo
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Test

H IDENTIFVING MAIN IDEAS
Write the letter of the comect answer in the blank provided. (10 points each)
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When a farm worker loses his job
after the harvest, it is an example of

A. frictional unemployment.
B. seasonal unemployment.
C. structural unemployment.
D. cyclical unemployment.

Which statement describes full
employment?

A. Everybody who wants a job has a job.
B. There is no unemployment at all.

C. There is no cyclical unemployment.
D. There is no structural unemployment.

- People who are underemployed

A. no longer look for work.

B. work part time or at jobs that are below
their skills,

C. are the same as unemployed workers.

D. experience only frictional employment.

A general increase in prices is called

A. inflation.

B. purchasing power,
C. the CPL

D. a price index.

The inflation rate is

A. the ability to buy goods or services.

B. measured in fixed dollars.

C. not an important measure to economists.

D. the percentage change in prices over
time.

- Inflation reduces people’s purchasing

power because

A. the same amount of money buys more
goods and services.

B. the same amount of money buys fewer
goods and services.

C. the market basket has to be changed
every year.

D. there is not enough money in the
economy.

7. What is the poverty threshoid?

A, the income level below that which is
needed to support a family

B. the income of the lowest 20 percent of
families

C. the percentage of people who live in
poverty

D. the income needed to live in an inner
city or rural area

8. Poverty rates are

A. higher for whites than for African
Americans.

B. higher for whites than for Latinos.

C. higher for African Americans and
Latinos than whites.

D. the same for all racial groups.

9. Which of the following statements
describes income distribution in the
United States?

A. Most people eam the same income.

B. The richest 20 percent of the popula-
tion has about 20 percent of the
national income.

C. The richest 20 percent of the popula-
tion has a much greater share of
income than the poorest 20 percent.

D. The richest 20 percent of the popula-
tion has slightly more income than the
poorest 20 percent.

10. An enterprise zone is

A. a wealthy part of a city where every-
body has a good job.

B. a part of a city with many old, closed
factories.

C. a government office where people
can work in exchange for temporary
assistance.

D. an area of high unemployment where
the government encourages companies
to locate by providing tax breaks.
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of taxes.

Each type of tax struc-
ture places different
kinds of burdens on
pecple of different

income levels, This chart |
shows how different tax |2

structures would affect
two taxpayers: Ron,
with an income of
£50,068, and Mary, with
an income of $150.000.

e

money to run its
programs through
different types

Taxes and Government Spending

H TEXT SUMMARY

Taxes are payments that people are
required to pay to a local, state, or national
government. Taxes supply revenmue, or
income, to provide the goods
and services that people expect
from government.

The Constitution grants
Congress the power to tax and
also limits the kinds of taxes
Congress can impose. Federal
taxes must be for the “common
defense and general welfare,”
must be the same in all states, and may not
be placed on exports. The Sixteenth
Amendment, ratified in 1913, gave Con-
gress the power to levy an income tax.

When government creates a tax, it
decides on the type of tax base—the
income, property, good, or service that is

EA e

T

E GRAPHIC SUMMARY:

Type of Tax Description

“FHlat® tax

of income is taken in
taxes as ncome
i |

Example

) WHAT ARE TAXES?

subject to a tax. It also decides how to
structure the tax. The three basic kinds of
tax structures are proportional, progres-
sive, and regressive. A proportional tax
is a tax in which the percentage of income
paid in taxes remains the same for all
income levels. A progressive tax is one
in which the percentage increases at
higher income levels. An example is the
individual income tax, a tax on a per-
son’s income, which requires people
with higher incomes to pay a higher per-
centage of their incomes in taxes. In a
regressive tax, the percentage increases
at lower income levels. A sales tax, a tax
on the value of a good or service being
sold, is regressive because higher-income
people pay a lower proportion of their
incomes on goods and services.

Three Types of Tax Structures

Ron's taxes an
$50,000 income

fiary’s taxes on
$150,000 income

|
‘ $7.,500, or 15 percent | $22,500, or 15 percent
|

32,000, or 5 percent $3,000, or 5 percent
of total purchases af total purchases of
| of $40,000; tax billis | $60,000; tax bill is

' 4 percent of income | 2 percent of income
| |

REVIEW QUESTIONS
1. What is meant by the term tax base?

2. Chart Skills Does Ron or Mary pay
more tax dollars with a sales tax?
Which person pays a larger per-
centage of income with a sales tax?

e ST TS S T T
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H TEXT SUMMARY

The federal government has several
sources of income. The Jargest is the indi-
vidual income tax, which provides nearly
half of federal revenue. It is collected on a
“pay-as-you-earn” system throughout the
year, mostly by employers withholding,
or taking out part of an employee’s income
and sending it to the federal govermnment.
At the end of the year employers send
employees a report showing how much
has been withheld. Employees then fill out
a tax retwrn, a form in which people
declare income to the government and fig-
ure out how much tax must be paid.
Taxable imcome is a person’s gross, or
total, income minus exemptions and
deductions. Gross income includes
income from salaries, wages, tips, and
commissions, as well as from interest on
savings accounts and stock dividends.
Personal exemptions are set amounts that
can be subtracted for an individual and for

Rl ) FEDERAL TAXES

family members. Deductions include
interest on a mortgage, donations tc char-
ity, and state and local taxes.
Corporations pay a corporate income
tax on their income. Corporate taxes make
up about 10 percent of
federal revenues. Like
personal income taxes,
corporate taxes are pro-
gressive, Tax rates increase

' farnilies and corporatio
as profits increase. and other mr:::me:&
The Federal Insurance to help fund government

Contributions Act, or
FICA, taxes are also with-
held from people’s salaries.
Most goes for Social Security, which was
established in 1935 as a retirement fund
for workers. Now it also provides benefits
to wage eamers’ surviving family members
and people with disabilities. FICA taxes
also fund Medicare, a national health
insurance program for people over age 65.

B GRAPRIC SUMMARY: Sources of Federal Revenue

Tax 2 p

Personal income tax Individuals’ income

Corporate tax Corporations’ profits

FICA taxes Individual’s income, but payments shared by
individuals and corporations

Excise tax Sale of certain products, such as gasoline,
alcohol, telephone service

Estate tax The estate of a person who has died

Gift tax Money or property one living person gives
to another

Tarift Imported goods brought into the country

E REVIEW QUESTIONS

1. How is the corposate tax like the
personal income tax?

2. Chart Skills What kind of federal
tax do you pay if you fill your car
with gasoline or make a telephone
call?

programs.

Although the federal
government has
different sources of
revenue, the largest
share is paid by
personal income taxes.

© Pearson Education, Inc., publishing as Pearson Prentice Hall. Al Rights Reserved.
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8 TEXT SUMMARY

The federal government takes in nearly §2
trillion dollars a year in revenue. About
three-quarters of its spending, however, is
“mandatory.” Mandatory spending is
money lawmakers are required by law to
spend on certain programs or to use for
interest payments on the

) FEDERAL SPENDING

programs  include food  stamps,
Supplemental Security Income (SSI), and
child nutrition, generally for low-income
people. The federal government also pays
retirement benefits and insurance for fed-
eral workers and veterans’ pensions.
Discretionary spending is spending

2 THE BIG 1pEA
IS T L~ TR

=1 national debt.
Most mandatory spending

for which government planners can make
choices. It accounts for about one-quarter

bas a huge budget of
nearly $2 trillion, but
much of its spending is
required by law.

is for entitlements. These
are benefits paid to people
who meet certain require-
ments, such as age or
income. Spending on entitle-
ment programs rises as the
number of qualified recipients rise. The
largest entitlement programs are Social
Security, Medicare, and Medicaid, which
provides health insurance to low-income
families. Other mandatory spending

Z GRAPHIC SUMMARY:

Administration of Justice 2%
The federal government Vaterans Baunfiis 3%
spends tax money on
both mandatory pro-
grams, such as Social Sacial Sapurity
Security and Medicare,

and discretionary pro-
grams, such as national

defense and education.

of federal spending. Discretionary spend-
ing includes defense spending, education,
national parks and monuments, trans-
portation, disaster aid, foreign aid, and
many other items.

The federal government also provides
aid to state and local governments and
shares the costs for some programs with
state and local governments. Medicaid
costs, for example, are shared by both the
federal and state governments.

Federal Spending

Scieace, ;pace, s lechnology 1%

tiete: Bucaise of ounding, utats aury e basa ar greaier then 160 peresm.

Sowca Difecy of Maasgyment and Budge

E REVIEW QUESTIONS

1. What is the difference between
mandatory and discretionary
spending?

2. Graph Skills What percentage of
federal spending is spent on
Medicare? On net interest payments?
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B TEXT SUMMARY

State governments have two budgets.
The operating budget pays day-to day
expenses. The capital budget pays for
major capital, or investment, spending.
New bridges and buildings are examples
of capital spending. State laws require a
balanced budget—a budget in which
revenue is equal to spending. This rule
applies only to the operating budget.
While tax policies and spending differ
among states, most spend the largest
amounts on education, public safety,
highways, and public welfare. Public
safety includes state police, crime labs,
and corrections systems. States also build
and maintain highways and roads, often
with federal assistance. States get revenue
several ways. All but five states have a
sales tax. States may also have excise
taxes, state income taxes, taxes on real
property, such as land and buildings,

STATE AND LOoCAL TAXES
AND SPENDING

and personal property, such as fur-
niture and jewelry. Most states collect
corporate income taxes and license fees.

Local governments—towns,

townships, counties, and
districts—also collect taxes.
These taxes support public
schools, law enforcement, fire
protection, libraries, airports,
public hospitals, parks, public
transportation, and more. The
main source of local revenue is
property taxes, a tax on the
value of a property. Property
taxes are paid by people who
own homes, apartments, build-
ings, or land. An official called
a tax assessor determines the

Cities,
special

> THE BIG 1DEA 5

various taxes, as
well as from the
federal government,
to fund programs
and services.

value of the property. Local governments
may also levy sales taxes, excise taxes,

and income taxes.

H GRAPHIC SUMMARY: Sources of State Revenues

Sales Taxes

s

Personal
s income taxes
\\\

Corporate
income taxes

License
fees

Most statas get the major part of their revenues from sales taxes and individual income taxes, but each

state has its own mix of revenue sources.

B REVIEW QUESTIONS

1. What is the difference between an
operating budget and a capital
budget?

2. Diagram Skill Which two

sources of state revenue are taxes

on income?




Name Class Date ‘
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H IDENTIFYING MAIN IDEAS

Wirite the letter of the correct answer in the blank provided. (10 points each)

1. The income, property, goods, or services 6. Most federal mandatory spending is

on which people pay tax is called a

spent on

A. tax rate. A. defense.

B. tax base. B. interest on the national debt.
C. sales tax. C. salaries for people in the federal
D. revenue.

2. Which of the following would be a
progressive tax?

A. People earning $35,000 pay 10 percent
tax, while people earning $100,000 pay
30 percent tax.

B. People pay 10 percent on property
whether it is worth $50,000 or
$500,000.

C. All people pay a 15 percent income tax.

D. Everyone pays a 5 percent sales tax.

3. What provides the largest portion of
federal revenue?

A. corporate taxes

B. tariffs

C. FICA taxes

D. individual income taxes

4. What is a person’s taxable income?

A. the gross income received from salaries,
wages, tips, and commissions

B. all the income that was withheld by
an employer and sent to the federal
government

C. a person’s gross income after subtract-
ing exemptions and deductions

D. all the personal exemptions and deduc-
tions a person has

5. What is withholding?

A. a statement to employees telling them
how much taxes they owe.

B. a way of collecting taxes from the
salaries of employees.

C. a pension paid to retired people.

D. a kind of insurance for employees who
lose their jobs.

10.

government.
D. entitlements.

. An example of federal discretionary

spending is

A. transportation.
B. Social Security.
C. Medicare.

D. food stamps.

. Which of the following would be paid .

for with a state’s capital budget?

A. lawmakers' salaries

B. education

C. salaries of state troopers
D. a new bridge

. One feature common to states is

A. a balanced budget requirement.

B. ar -icome tax.

C. a sases tax.

D. the same percentage of spending on
Medicaid.

The main source of reveriue for local
governments is

A. a sales tax.
B. license fees.

C. property taxes.
D. income taxes.

L e e e —— A A A R e - Ay~ v it e el
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@® Fiscal Policy

. PoLIcY

8 TEXT SUMMARY

Fiscal policy is the govemment’s use of
taxing and spending to keep the nation’s
economy stable. Decisions about fiscal
policy are used to create the federal
budget, a written document showing
how much money the government
expects to receive and spend in a year.

The budget process begins when each
federal agency estimates spending for the
next year. They send these estimates
to the executive branch’s Office of
Management and Budget (OMB). The
OMB reviews proposals and, with the
President’s staff, combines all budgets into
one document, which the President pre-
sents to Congress. Congress reviews the
budget with help from the Congressional
Budget Office. Congress then proposes
its modified budget and authorizes specific
spending in appropriations bills, which
the President can sign or veto.

¥l GRAPHIC SUNMMARY:

sm-.o.@ UNDERSTANDING FISCAL

Expansionary policies are designed
to increase economic output. When the

govemment increases its spending it
buys more goods and services, leading to

economic growth. When gov-
ernment cuts taxes, people
have more money to spend, a
situation which also leads to
economic growth. Policies
intended to decrease output are
contractionary pelicies.
These policies allow govern-
ment to decrease its spending
or raise taxes, both of which
will lead to slower economic
growth.

s THE BIG 1DEA ;

decislons on taxes,
borrowing, and
spending have a
powerful impact
on the nation’s
economy.

Fiscal policy is not easy to put into
practice. Changes in the economy come
slowly. During the time it takes to pass a
budget and implement fiscal policy, the
business cycle may change on its own.

Creating the Federal Budget

federai agencies send requests for money to
the Office of Management and Budget.

= ;

The Office of Management and Budget works with the
President to treate a budget. In January or february, the

President sends this budget to Congress.

government,

Congrass makes changes to the budgat and
sends this new budget to the President,

The President and Congress
wark togather to create
the budget of the federal

The President signs the
budget into law.

The President vetoes the budget. if Congress cannot get 2 2/3
majority to override the President’s veto, Congress and the
President must work together to create a new, compromise budget.

El REVIEW QUESTIONS
1. What are expansionary policies?

2. Diagram Skills What happens if

the President vetoes the budget?

s



different views about
the government’s role in
encoaraging growth.

EH TEXT SUMMARY

Classical economics was a school of
thought stating that markets regulate
themselves and will return to equilib-
rium without government interference.
The Great Depression challenged this
view. Although prices fell,
demand did not increase
because so many people
lacked jobs and money.
John Maynard Keynes
introduced a theory, called
Keynesian economics,
which emphasized the role
of government in the
economy. Keynes said the Depression
continued because neither consumers
nor businesses had an incentive to
increase spending. Companies would
not increase production if consumers
had no money to buy their products.
Consumers who were unemployed had
no money to spend. Keynes argued that
the government could buy more goods

Q&L ) FiscaL PoLicY OPTIONS

and services, encouraging production,
which in turn would put more people
back to work.

Fiscal policy is powerful because of the
multiplier effect, the idea that every
dollar change in fiscal policy creates a
greater than one dollar change in the
national economy. For example, if the
government buys $10 billion in goods and
services, GDP increases by more than $10
billion because firms spend money on
wages, raw materials, and investment.
Workers, suppliers, and stockholders will
have money to spend.

Supply-side ecomomics states that
taxes have a negative effect on economic
output. Supply-siders argue that lower
taxes put more money in people’s pock-
ets, which in turn leads to greater invest-
ment and more jobs. Under President
Ronald Reagan in the 1980s, the govern-
ment cut taxes and implemented supply-
side policies.

2 GRAPHIC SUMMARY: Comparing Economic Theories

Classical Economics

Markets regulate them-
selves. As prices rise and
fall, supply and demand
adjust and the market
returns to equilibrium.

Keynesian Economics

In a recession, demand may
not increase even if prices
drop. If neither consumers
nor businesses can spend
money, the government
spends more to increase
aggregate demand.

Supply-Side economics

Aggregate supply is more
important than aggregate
demand. Lower tax rates are
the key to increasing aggre-
gate supply because they
make more money available
to investors.

Different economic theories have different views about the government’s use of fiscal policy.

H REVIEW QUESTIONS
1. What is the multiplier effect?

2. Chart Skills Which theory
advocates focuses on aggregate
demand? Which focuses on

aggregate supply?
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H TEXT SUMMARY

When government revenues equal
spending, a balanced budget exists. In
reality, the federal budget is rarely bal-
anced. A budget surplus occurs when
annual revenues are higher than spend-
ing. A budget deficit occurs when
spending is higher than revenues.

When the government runs a deficit,
it must find a way to pay for the extra
expenditures. It can either create money
or borrow money. Covering huge deficits
with created money can lead to
hyperinflation, or very high inflation.
The main way that government borrows
money is by selling bonds, such as
United States Savings Bonds.

When government borrows money, it
creates a mational debt, the total
amount of money the government owes
to bondholdets. Two problems arise from
a national debt. First, it reduces funds
available for businesses to borrow and

,-.E.:T.o..g BUDGET DEFICITS AND THE
- NATIONAL DEBT

invest because people buy government
bonds instead of investing in business.
Second, government pays interest to

bondholders, and money spent

paying interest cannot be spent THE BI1G IDEA

elsewhere. 0 SRR AR ST VLT
In the 1980s, huge deficits When “"’:"‘““‘

led Congress to pass laws md::fenng:“t“

cutting federal spending. After than :

the Supreme Court found bndg;t::lﬂ‘;:its and

many of these laws uncon- :h'"' oul ebt are

stitutional, some people e resait.

suggested amending the

Constitution to require a balanced
budget. Opponents said an ammendment
would prevent government from
dealing with rapid economic changes.

At the end of the twentieth century,
budget suspluses occurred for the first
time in thirty years. However, war, reces-
sion, and tax cuts soon brought new
deficits,

= anpmc summnmr— Budget Surpluses and Deficits, 1940-2004

in the years since 1940, the
United States government
has had more years of
budget deficits than
budget surpluses.

1940 iﬂ5 1850 1955 1Hll lm 1970 1875 1980 1965 195¢ 1925 2000 ZMS

Source. Difice of Menagemen and Budget Year

B REVIEW QUESTIONS

1. What is the difference between a
budget surplus and a budget
deficit?

2. Graph Skills When did the fed-

eral government run the largest
deficit? The largest surplus?
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CHAPTER 15
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Test

Hl IDENTIFYING MAIN IDEAS
Wirite the letter of the correct answer in the blank provided. (10 points each)

1. What is the main goal of government’s
fiscal policy?

A. to have a budget surplus

B. to have a budget deficit

C. to produce a balanced budget
D. to maintain a stable economy

2. The federal budget process begins with

A. appropriations bills.

B. federal agency estimates.

C. Congress.

D. the Congressional Budget Office.

3. Which of the following might be part of
an expansionary policy?

A. increased taxes

B. a tax cut

C. lower government spending
D. mandatory spending

4. Classical economics states that

A. markets should be allowed to regulate
themselves.

B. government should spend in a
recession.

C. government should cut taxes in a
recession.

D. government should raise taxes in a
recession.

5. John Maynard Keynes believed that to
end the Great Depression, government
should

A. allow the markets to regulate
themselves.

B. spend and buy more goods and
services.

C. lower taxes.

D. raise taxes.

6. The main idea of the multiplier effect

is that

A. government should create new money
to put an end to inflation.

B. every dollar the government spends
creates a greater than one dollar change
in economic output.

C. taxes multiply each year and create a
greater deficit.

D. as the economy grows, more jobs are
created.

7. A supply-side economist would be
in favor of

A. cutting taxes.

B. raising taxes.

C. increasing government spending.
D. regulating markets.

8. When government revenues and

expenditures are equal, there is

A. a budget surplus.
B. a budget deficit.
C. hyperinflation.

D. a balanced budget.

9. The national debt is

A. all the money individuals owe on their
credit cards.

B. the interest the government pays on
bonds.

C. the total amount of money the federal
government owes.

D. the same as a budget deficit.

10. What was the budget situation of the

federal government at the end of the
twentieth century?

A. There was no longer a national debt.
B. The budget deficit was larger than ever.
C. There was a budget surplus.

D. The budget was balanced.

e e e e S e S S L D
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@ The Federal Reserve and Monetary Policy

sscﬂoi} THE FEDERAL RESERVE

Yy

- SYSTEM

H TEXT SUMMARY

After a series of banking crises, Congress  The President also appoints the Board’s
passed the Federal Reserve Act in 1913.  chair. The chair is the main spokesperson
The Federal Reserve System, often referred  for the nation’s momnetary policy, the
to as “the Fed,” is a group of twelve actions the Fed takes to influence the
regional independent banks. During the  level of real GDP and the rate of inflation.
Great Depression, the regional banks did The Federal Reserve
not always agree on what kind of action  System is divided into
to take. In response, Congress reformed  twelve regional Federal
the Fed in 1935, giving it more centralized  Reserve Districts, with
power to deal with crises such as the Great  one regional Federal Reserve
Depression. Bank in each. They moni-
Member banks own the Federal Reserve  tor and report on district
System. Members include all nationally- economic and banking
chartered banks, which are required to  conditions. The Federal
. join, and some state-chartered banks, Open Market Committee
which may join if they wish. A Board of (FOMC) makes key decisions about
Governors, appointed by the President,  interest rates and the growth of the U.S.
oversees the Fed. To prevent the board  money supply. Its members are drawn
from being influenced by politics, noone  from the Board of Governors and the
President may appoint all the governors.  twelve district banks.

2l GRAPHIC SUMMARY: Federal Reserve Districts

in 1913 to stabilize
the nation’s money
sapply and conduct
monetary policy.

The Federa! Reserve System
is made up of 12 districts,
1 h each with its own Federal
v | L iposson Reserve Bank. The Board of
3 fl: rork Governors of the Fed meet in

EBE] Federal Resarve districts
« Hoard of Governors,
Washington, D.C.
8 Faderal Reserve Sank citles
* Federsl Reserve branch cities

RAWAD ‘2

i REVIEW QUESTIONS

‘ 1. Why did Congress adjust the Federal 2. Map Skills: What city is home to the
Reserve structure in 19357 Federal Reserve bank of District 1?
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Ga. ) FEDERAL RESERVE
~ FUNCTIONS

A TEXT SUMMARY

The Fed provides banking services to the
federal government. It maintains a check-
ing account for the Treasury Department
and processes payments, such as Social

"A’ _'Qs'r

The M serves a&‘tlle
nation’s banker anda
banker’s bank, and
regulates the banking
system and the nation’s
money sapply.

THE BIG

Security checks and IRS
refunds. It helps the govemn-
ment finance its activities.
When the Treasury Depart-
ment auctions government
bonds, the funds gained
from such sales are deposited
into the Federal Reserve
Bank of New York. The Fed

¥l GRAPHIC SUMMARY:

also issues paper culrency
and takes wormn or damaged bills out
of circulation.

The Fed provides banking services to
banks. One service is check clearing,
the process by which banks record whose
account gives up money and whose

account receives money when someone
writes a check. The Fed sends out bank
examiners to supervise lending practices
and other activities of member banks. The
Fed also protects consumers by enforcing
truth-in-lending laws.

Banks often lend each other money
from their reserve balances. These funds are
called federal funds. The interest rate that
banks charge each other for these is called
the federal funds rate. Banks can also
borrow directly from the Federal Reserve,

The Federal Reserve is best known for its
role in regulating the nation's money sup-
ply. The law of supply and demand affects
meney as well as the rest of the economy.
Too much money in the economy leads to
inflation. Ideally, the Fed tries to increase
the money supply by the same rate as the
growth in the demand for money.

Functions of the Federal

Reserve System

Provides banking
services to member and
nonmember banks

ﬁ:ﬁ&ﬁﬁ:g Regulates
federal government Federal banking industry

. Reserve System

The twelve banks that make up the Federal
Reserve system carry out functions that are
critical to the health of the nations economy
and banking system.

H REVIEW QUESTIONS
1. What is the discount rate?

68 CHAPTER 16 Guide to the Essentials © Pearson Educailon, inc., publishing as Paarson Prentica Hall. All Rights Reserved.

2. Diagram Skills What are the four | .
main functions of the Federal
Reserve System?



Bl TEXT SUMMARY

Money enters the economy by a process
called momey creation. Banks create
money making loans. When a bank makes
a loan of $1000 and deposits money in the
bortowers checking account, it increases
the money supply by $1,000. The bank
can oan out all but the required reserve
ratio, (RRR), the ratio of reserves to
deposits required of banks by the Fed. If
the RRR is 10 percent, the bank may loan

) MONETARY PoLICY TOOLS

prime rate are affected by changes in
the federal funds rate. When the federal
funds rate goes up or down, the other two
rates also go up or down. When banks
lend money at a lower rate, it tends to
increase the overall money supply.

The Fed’s third and most important
monetary policy tool is open market
operations, the buying and selling
of government securities

THE BIG ipEn ®

out 3900 of the original $1,000 deposit.  such as bonds. When the

...... - — d,.vf‘

The bank can then lend out 90 percent of  Fed wants to increase the _-.lly len‘d%; ;;neﬁ’ R

that $900, and s on. money supply, it purchases | panks increase the
The Fed has three tools for adjusting  government securities. The money supply. The Fed '

the amount of money in the economy.  bond seller deposits money uses several tools to

The simplest is to change reserve require-  from the sale into the bank,

make the money smpply

ments. Reducing the RRR means that
banks can lend out more money, increas-
ing the money supply. Increasing RRR
has the opposite effect.

starting the money cre-
ation process. To decrease
the money supply, the Fed
sells government securities. The money

increase or decrease.

A second tool is to adjust the federal
funds rate. Both the discount rate and

paid for the bond is taken out of circula-
tion, and reserves are reduced,

El GRAPHIC SUMMARY: 7Tools of the Fed

Changing the Required

Changing the Federal

Open Market Operations

* Reserve Ratio (RRR) funds Rate
To INCREASE the Reduce the RRR, Decrease the federal funds Buy government securi-
money suppy, other | freeing up reserves rate, encovraging banks to ties, putting money into
banks can.., for banks, allowing borrow from other banks, the seller's checking

them to make more increasing reserves for account and starting the

loans. loans, money creation process.
To DECREASE the Increase the RRR, Increase the federat funds Sell government securi-
maney supply, other | reducing reserves rate, discouragi gbanks ties, withdrawing money
banks can... for banks, making from borrowing from other from the seller's account

less money avail-
able for loans.

banks, decreasmg reserves
for loans.

and taking it out of
circulation.

The Fad has three major tools for regulating the nation’s money supply. The pre-
ferred tool is open market operations, which has the least disruptive effect on the

banking system,

8 REVIEW QUESTIONS

1. How does reducing the RRR lead to 2, Chart Skills What are the three
an increase in the money supply?

major tools of the Fed in control-

ling the money supply?

B4 S et = = e e e e e e e e e i
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BIG IDEA —

monetary ]mlicy
tame business cycles,
bat it must decide if
and when it is wise
to imtervene in the

CHAPTER 16 Guide to the Essentials

SECTION @

MONETARY POLICY AND
MACROECONOMIC

STABILIZATION

H TEXT SUMMARY

Monetarism is the belief that the
money supply is the most important fac-
tor in rmmacroeconomic perfermance.
Monetary policy alters the supply of
money, which in turn affects interest
rates. When the supply of money is low,
the price of money—the inter-
est rate—is high. When the
<1 supply of money is high,
| interest rates are low.

The Fed can use monetary
policy to expand or contract
the U.S. economy. An easy
money policy is a monetary
policy that increases the
money supply. A larger money
supply means lower interest
rates, which in turn means more money
for investment and a boost to the
economy. By contrast, a tight momey
policy is a monetary policy that reduces

«in

the money supply by raising interest
rates, thus decreasing GDP.

Timing is essential in monetary policy.
Good timing smoothes out fluctuations
in the business cycle. Bad timing can
make the business cycle worse. For exam-
ple, an expansionary policy may take
effect as the economy is beginning to
expand on its own, leading to overexpan-
sion and inftation.

An inside lag is a delay in implement-
ing policy. It may occur because it takes
time to recognize a problem. An outside
lag is the time for a policy to take effect.
Because of lags and the difficulty of
predicting the direction of the economy,
it is difficult to use monetasy policy
effectively. Some recessions are short and
correct themselves in time. Policy makers
are more likely to want to intervene in the
case of a long and severe recession.

H GRAPHIC SUMMARY: fiscal and Monetary Policy Tools

Fiscal policy tools Monetary policy tools

1. increasing government
spending
2. castting taxes

Expansionary tocls

1. open market operations;
bond purchases

Both fiscal policy and moenetary policy can be used to affect the economy.

/A REVIEW QUESTIONS

1. What is the difference on the money 2. Chart Skills If the Fed is pursuing

supply between an easy-money
policy and a tight-money policy?

an expansionary policy, would it
want to buy or sell bonds?

— e
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CHAPTER 16

Class

Test

El IDENTIFYING MAIN IDEAS
Wirite the letter of the correct answer in the blank provided. (10 points each)

-————

1. What is monetary policy?

A. the amount of money the federal gov-
ernment spends

B. the amount of money that the Federal
Reserve banks print up and distribute

C. actions the Federal Reserve System takes
to influence the rate of inflation and
real GDP

D. the decision to have federal or state
banks

. How many Federal Reserve Districts
are there?

A. one

B. one for each state
C. three

D. twelve

. Who owns the Federal Reserve System?

A. the federal government

B. member banks

C. all banks in the country

D. all commercial banks in the country

4. What is one service the Fed performs

for the Treasury Department?

A. It processes payments, such as Social
Security checks.

B. It auctions government bills.

C. It collects federal taxes.

D. It selects the Secretary of the Treasury.

. The federal funds rate is

A. the rate banks charge when lending
money to one another.

B. the amount that a bank has to subtract
for its reserves.

C. a special rate that member banks of the
Federal Reserve get for their financial
operations.

D. the rate customers of savings banks get
for borrowing money.

- —— _— "

Date

6.

10.

How do banks create money?

A. by getting permission to print money
from the Federal Reserve

B. by paying interest to their customers

C. by selling off bank property

D. by loaning out money that borrowers
place in their checking accounts

. What is the required reserve ratio?

A. the amount of money that the Fed
does not let banks borrow

B. the reserves that the Fed requires banks
to keep from the money deposited

C. the interest rate banks charge
each other

D. the money kept by the federal
government

What is the Fed’s most important
monetary policy tool?

A. creating money

B. changing the federal funds rate
C. changing reserve requirements
D. borrowing money

. What is the main idea of monetarism?

A. All money should be issued by the
federal government.

B. The money supply is the most
important factor in economic
performance.

C. Interest rates are the most important
factor in economic performance.

D. Money should be minted in gold
or silver.

Which of the following actions would the
Fed take to fight inflation?

A. increase government spending
B. raise taxes

C. increase the money supply

D. reduce the money supply

Pastedon b dhan Commndiale SLABTEDS 40 74



resonrces.
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THE BIG |DEA Y-

nations make the
best use of their

International Trade

¥l TEXT SUMMARY

Natural resources, human capital, and
physical capital are unevenly distributed
from country to country. Because coun-
tries differ so rnuch in resources, they also
differ in their ability to pro-
duce different goods and

5 OIS ST .
IB s];ed' m -,ul th services. They will specialize
pzoﬂ“mm of certai:l in certain products that they
goods and services, can produce most efficiently.

For example, coffee is grown
more efficiently in warm areas
like Central America than in
other parts of the world.
Because countries cannot effi-
ciently produce everything their citizens
need and want, they engage in trade.
Comparative advantage is the abii-
ity ot one person or nation to produce a
good at a lower opportunity cost than that
of another person or nation. The law of
comparative advantage states that

2 GRAPHIC SUMMARY:

Ry WHyY NaTIONS TRADE

nations are better off when they produce
goods and services they have a comparative
advantage in supplying. The money nations
make from selling those goods and service
can be used to buy the goods and services
they cannot produce as efficiently.

An export is a good sent to another
country for sale. An impeort is a good
brought in from another country for
sale. The United States is the world’s
leading exporter followed by Germany
and Japan. The United States is also the
world’s top importer.

As countries specialize in certain prod-
ucts in which they have a comparative
advantage, changes in employment pat-
terns can occur. For example, in the 1970s
Japan gained a comparative advantage in
producing automobiles. As the American
automobile industry lost business, many
American workers lost their jobs.

Resource Distrfbution

s e 1 Vg —

o wie | eew | onitedCingdom | unea st
Total area {sq km} 3,287, 590 1 285 220 244 820 9,629,091
| Al’able land (sq km} | 1,664,986 38,400 &0,398 1,740,2G2
|' Mineral resources Coal, iron ore, manganese, | Copper, silver, goid, Coal, petroleum, natural | Coal, copper, lead, I
mica, bauxjte, titanium ore, | petroleum, timber, gas, tin, limestone, iron | phosphates, molybdenum,

chromite, natural gas,
diamonds, petroleum,

fish, iron ore, coal,
phosphate, potash,

ore, salt, clay, chalk,
gypsurn, lead, silica,

uranium, bauxite, gold, iron, |
mercury, nickel, potash, silver, |

| limestone, arable fand i hydropower arable land | tungsten, Zinc, petroleurn, |

natural gas, timber |

Populstion 1.1 bilfion 27,949,639 59,778,002 2N .?__'5__5.169 _J
Labor force 406 million 7.5 million 29,7 million 147 million |
Literacy rate 52% 883% 99% 97% i
Telephones 27 per 1,000 people &4 per 1,000 peaple | 585 per 1,000 peopie 697 per 1,000 people |
Airports 335 239 470 ' 14,695 |

Nations have great

differencas in their
resources and their
ability to benefit
from them,

H REVIEW QUESTIONS
1. Why do countries trade?

2. Chart Skills Which country on
the chart has the highest rate of
literacy?

72
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Bl TEXT SUMMARY

Most countries have trade barriers—a
means of preventing a foreign product or
service from freely entering a country.
One type of trtade barrier is an import
quota, a law limiting the amount of a
good that can be imported. A voluntary
export restraint js a limit a country
imposes on itseiff on the amount of
exports it ships to another country. A
tariff is a tax on imported goods.

Trade barriers have both positive and
negative effects. For example, United
States tariffs will result in higher prices
on imported cars. This helps American
car makers compete. However, c¢on-
sumers then pay more for imported
cars. American manufacturers might
lose the incentive to become more
efficient and make less expensive cars.
irade wars are another possible
negative effect of trade restrictions.
When one country restricts imports, its

suﬂd%b TRADE BARRIERS AND
AGREEMENTS

trading partner may try to use similar
restrictions. Trade wars can result in less
trade,

Protectionism is the use of trade
restrictions to protect a nation’s indus-
tries. The most basic argument for
protectionism is that it
protects workers in indus-
tries that would be hurt by
specialization and trade.

Recent trends have been
toward lowering trade bar-
riers and increasing trade
through international trade
agreements. The World Trade
Organization (WTOQ) attempts to
negotiate agreements and resclve trade
disputes. The United States has entered
into a treaty caliled NAFTA, the North
American Free Trade Agreement, which
reduces trade barriers between the
United States, Canada, and Mexico.

Bl GRAPHIC SUMMARY: Average Tariff Rates in the United States

14 ‘.\; _"'_T_u;

) ] ) ] _J[F:;Lhw

SDQTTP

: - A000 1915 #4910 115 1920 1925 1930 1935 1940 1945 1950 1955 1960 1985 1970 1975 1980 1985 1990 1995 2000 2005
; "*’ s Year

' Sowrcer Hinmricel Stavistics of the Unired Stetes: Colonial Times tp 1970 Statistice! Abstrect of the United States; Trade Policy

‘Raview of the Ueited Stries

E REVIEW QUESTIONS

1. Identify positive and negative
effects of ttade barmiers.

2. Graph Skills In what year was the
tariff rate the highest?

Tariffs have declined
throughout most of

the 1990s.
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rates, which com-

pare the valones of
the world’s differ-
ent currencies.

E TEXT SUMMARY

Before you can spend money in a foreign
country you have to exchange your U.S.
dollars for the currency of that nation.
The value of that currency in relation to
your own is the exchange rate.
Exchange rates go up and down daily. An
increase in the value of a cur-
rency is called appreciation.
When a nation’s currency appre-
ciates, its products become more
expensive to other nations, lead-
ing to a decrease in its exports.
However, its imports become
cheaper and usually increase in
number. The opposite happens
with depreciation, a decrease
in the value of a nation's currency.

The foreign exchange market,
which consists of about 2,000 banks and
other financial institutions, helps compa-
nies and nations exchange currencies,

MEASURING TRADE

thus making international trade possible.
The world's countries work together to
compare and keep track of exchange
rates. A fixed exchamge-rate system
keeps the value of currencies constant
against one another. Since 1973 the
United States and many governments
have adopted a flexible exchamge-rate
system, which allows exchange rates to
be determined by supply and demand.
Some European countries, members of
the European Union, use the same cur-
rency, called the Euro, and the same cen-
tral bank.

The relationship between imports and
exports is called balance of trade. A
trade surplus occurs when a nation
exporis more than it imports. A trade
deficit occurs when a nation imports
more than it exports. The United States had
a large trade deficit in the 1990s and 2000s.

El GRAPHIC SUMMARY: Foreign Exchange Rates

Currency Value of $1 U.S.
Australian dollar 1.281
Foreign exchange rates N i
Acconding to this chart. Canadian dollar 1.244
one U.S. doliar can be
exchanged into about ane Japanese yen 104.4
and a quarter Canadian
dollars. European Union euro 0.772
Mexican peso 10.935
Chinese renminbi 8.277

#i REVIEW QUESTIONS

1. Which system do the United States 2, Chart Skills How many yen can
and many other countries use to
compare exchange rates between
their currencies?

be exchanged for one U.S. dollar?
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‘ Name

-
®

—

Class Date

Test

1 IDENTIFYING MAIN IDEAS
Write the letter of the correct answer in the blank provided. (10 points each})

————

1. Nations specialize when they

A. have few natural resources.

B. produce certain goods and services
more efficiently than others.

C. import more than they export.

D.export more than they import.

2. Comparative advantage is the ability of
a country to

A. have more physical capital than
another.

B. produce everything its people need
and want.

C. produce a good at a lower opportunity
cost than another country.

D. borrow more money from other
countries.

3. Which statement illustrates the law of

————

comparative advantage?

A. A country makes the goods it produces
most efficiently and trades for others.

B. A counttry makes all the goods it needs.

C. A country buys all its goods from other
nations,

D. A country exports all its raw materials

and imports all manufactured products.

4. What is the purpose of itnport quotas?

A. to increase the amount of certain
imported goods

B. to decrease the amount of certain
imported goods

C. to lower trade barrtiers

D. to create a self-imposed limitation on
imports

8. A tarijff is a tax on

A. raw materials.

B. exported goods.

C. imported goods.

D. any fotm of intemational trade.

6. The most basic argument in favor of
protectionism is that it

A. protects workers.

B. protects consumers.

C. defends nations against trade wars,
D. helps a country’s currency appreciate.

7. Which of the following is an example of
a trade war?

A. Two countries reduce all trade restric-
tions on each other.

B. Two countries compete to see which
can produce the most of a certain good.

C. Consumers in two countries refuse to
buy the goods of the other country.

D. Two countries impose tariffs on each
other's products.

8. Recent trends toward trade restrictions
have been to

A. lower only those trade barriers related
to technology.

B. shield a country’s automobile
industries.

C. increase trade barriers.

D. decrease trade barriers.

9. When a nation'’s currency appreciates,
which is the most likely result?

A. lts exports and imports will increase.

B. Its exports and imports will decrease.

C. Its exports will increase and its imports
will decrease.

D. Its exports will decrease and its imports
will increase.

. 10, A country that imports more than it
exports has a
A. trade deficit.
B. trade surplus.

C. balance of trade.
D. export quota.



development.

Nations with the lowest
per capita GDP are the
nations with the lowest
level of development.

L THE BIG IDEA

levels of economic

Economic Development and Transition

H TEXT SUMMARY

Development is the process by which
a nation improves its people’s economic,
political, and social well-being.
Developed nations, such as the United
States, have a high average level
of material well-being. Most
nations are less developed
countries (LDCs), with low
levels of material well-being.
The primary measure of level
of development is per capita
gross domestic product
{per capita GDP)—a nation’s gross
domestic product (GDP) divided by its
total population. For example, Australia
and India have similar GDPs. However,
India has about 50 times as many people,
so it has a much lower per capita GDP.
Another way to measure development is
the amount of energy, such as oil and gas,
used per person. Most developed nations

Bl GRAPHIC SUNMMARY:

mu,g;» LEVELS OF DEVELOPMENT

have high levels of industrialization,
the extensive organization of an economy
for the purpose of manufacture. Countries
with a high level of industrialization use
large amounts of oil and electricity. By
contrast, most LDCs use less amounts of
energy per person, since large numbers
of people engage in subsistence
agriculture. They raise only enough
food to feed their families.

Other ways to measure development
include the literacy, life expectancy, and
infant mortality rates. The literacy rate,
the proportion of people over age 15 that
can read and write, is higher in developed
countries. So is life expectancy, the aver-
age expected life span of an individual.
The infant mortality rate, the number
of deaths that occur in the first year of life
per 1,000 births, is lower in developed
countries.

Comparing Two Countries

L PG

| REVIEW QUESTIONS

1. What is measured by per capita
GDP?

2. Graph Skills Which country has

the larger population? Which coun-
1ry has the larger per capita GDP?
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Zl TEXT SUMMARY

Rapid population growth is a serious prob-
lem in many less developed countries. The
population growth rate, the increase of
a country’s population in a year, including
births, deaths, and rnigrations, averages
about 1.7 percent in LDCs. In developed
nations, the rate is about 0.5 percent.
Many LDCs are experiencing an increase
in life expectancy, and birth rates far out-
pace deaths. This leads to rapid population
growth. Increased populations require
increased job opportunities, health and
education facilities, industrial and agricul-
tural production, and exports and imports.

The uneven distribution of natural
resources throughout the world also
affects development. Only 10 percent of
Earth’s land is arable, or suitable for
growing crops.

LDCs often lack the physical and
human capital necessary to develop
resources. Without physical capital,
human-made resources used to create
goods and services, industry cannot grow

ISSUES IN DEVELOPMENT

and agricultural cutput will remain low.
Human capital, the skills and knowledge
of workers, is critical to economic devel-
opment. Access to education is limited,
and literacy rates are low, especially for
girls, who often have

less opportunity than [ ,_ _ _ £
boys. When a country |y ¢y’ problems include
does not have sufficient rapid population growth
human capital, it lacks | g e g nosnral resoma:
the skilled workers nec- and lack of physical and
essary to manage indus- human capital.

tzies. Foreign investors

will be discouraged from
investing in that country’s businesses.

Othes problems for LDCs are health
and political issues. Many people in
LDCs suffer from malnetrition, or
inadequate nutrition. Political factors
have limited the development of many
poor nations. These include dependence
on former colonial powers, experiments
with central planning, and comupt or
unstable governments.

——

Nations with high
population growth
rates have difficulty
providing goods and
sarvices to their
sapidly growing
populations.

10

s 9
Nowuwal rate of population increese

‘mm Raferonce Bureay (annual percent)

B REVIEW QUESTIONS

1. Why is a high population growth
rate a problem for LDCs?

2. Graph Skills Which three of these
nations are experiencing the most
rapid population growth?




for development

through investment,
loans, and foreign aid.

= THE BIG 1pea

A TEXT SUMMARY

A country can use two methods to finance
its economic development. Internal
financing comes from citizens' savings.
In less developed countries (LDCs), how-
ever, citizens have little money to save,
For that reason, most LDCs turn to
foreign imvestment, external invest-
ment originating from other countries, to
finance development. There are two
types of foreign investment. Foreign
direct investment (FDI)
is the establishment of an
enterprise by a foreigner.
Much foreign direct invest-
ment comes from multina-
tional corporations (MNCs),
large corporations that
produce and sell through-
out the world. Foreigm portfolio
investment occurs when foreigners buy in
a country’s stock and bond markets, often
by purchasing shares in mutual funds.
Foreign goveinments may give money
to LDCs for development or disaster relief.

E GRAPHIC SUMMARY:

Foreign firms have several
ways of investing directly
in other couniries.

<" A foreign

i:x_firm might ...

~ra

entes a parinership
with a firm
in a country.

There may be military, political, and
economic reasons for this foreign aid. For
example, during the early 1940s the
United States gave nearly $50 billion in
supplies to its allies in Weorld War 11
International institutions also promote
development. The World Bamk, the
largest provider of development assis-
tance, offers loans, advice, and other
resources to LDCs. The United Nations
Development Program (UNDP) is
dedicated to the elimination of pov-
erty through development. The
International Monetary Fund (IMF),
originally created to stabilize interna-
tional exchange rates, has expanded its
role to promote development. The IMF
offers advice and technical assistance to
LDCs. It can also help LDCs that are hav-
ing trouble repaying a debt to a nation
that lent it money. it does this by
helping to arrange debt rescheduling,
lengthening the time of repayment and
forgiving or dismissing part of the loan.

Foreign Direct Investment

in a country.

merge with
an existing firm
in a country.

purchase a firm
in a country.

Z REVIEW QUESTIONS

1. What are three international
institutions that promote
development?

2. Diagram Skills What are

four means of foreign direct
investment?
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H TEXT SUMMARY

Many LDCs are attempting the difficult
transition from centrally planned
economies to free markets. One step in
this transition is privatization, the sale
or transfer of state-owned businesses to
individuals. Another step is to change
the legal system to guarantee and protect
private property rights. Inefficient busi-
nesses may fail in a competitive system,
leading to rising unemployment and
unrest. Workers who never had incen-
tives to work hard must learn a new
work ethic, a system of values that
gives central importance to work,

Russia is an examnple of a couniry that
completely threw out its centrally planned
economy and replaced it with one based
on free markets. Untdl the late 1980s,
Russia was part of the communist Soviet
Union. But commmunism and the Soviet
Union itself collapsed in 1991. Russians
experienced hardships as they moved
quickly to a market-based economy.

ENTERPRISE

Without price controls, prices of many
goods tripled. Billions of dollars flooded
the country from the IMF and other insti-
tutions, but because of
mismanagement and
cormuption, the funds
were not used efficiently.

China is a commu-
nist country that is
attempting to modify
its centrally planned
economy with some
free market practices. The govemment
has contracts with farmers to grow a cer-
tain amount of crops, letting them profit
from any extra crops they are able to
grow. With an incentive to grow more,
farmers increased production. China
also set up special economic zones,
designated regions where foreign invest-
ment is encouraged. Since the start of
these reforms, China’s economy has
quadrupled in size.

& GRAPHIC SUMMARY: Privatizing State-Owned Businesses

A government can...

: aml people”‘hce large
challenges when shifting

from a command economy
to a market economy.

sel| businesses
to individual owners.

sell shares in businesses
to interested individuals.

give every citizen a voucher
or certificate that can be used
to purchtase shares in businesses,

A government has several options in privatizing its state-owned businesses,

# REVIEW QUESTIONS
1. What is privatization?

2, Diagram Skills What are three
ways a government can privatize
its state-owned businesses?
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CHAPTER 18 TeSt

& IDENTIFYING MAIN IDEAS
Wirite the letter of the correct answer in the blank provided. (10 points each)

1. The primary measure of a nation'’s

=

level of development is its

A. population.

B. industrialization.

C. gross domestic product.

D. per capita gross domestic product.

2. The literacy rate is

A. how fast people can read.

B. the proportion of a country’s people
that can read and write.

C. the number of languages people in a
country can speak.

D. the percentage of people who have fin-
ished high school.

3. One factor that is usually higher in
less developed countries (LDCs) than in
developed countries is

A. per capita GDP.

B. level of material well being.
C. life expectancy.

D. infant mortality.

Rapid population growth is occurring
in many LDCs because

A. life expectancy is increasing, and birth
rates far outpace deaths.

B. governments encourage large families
so that there will be more workers and
consurmers.

C. the food supply is increasing.

D. foreign investrnent is increasing.

S. When a country does not have sufficient

human capital

A. malnutrition will decrease.

B. foreign investment will be discouraged.

C. literacy rates will climb.
D. its population will grow.

6.

10.

. The largest provider of development

Few LDCs can finance development
with internal financing because

A. there are no banks.

B. people prefer selling companies to
other nations.

C. citizens have little money to save.

D. the World Bank does not permit inter-
nal financing.

A great deal of foreign direct investment
in LDCs comes from

A. mutual funds.

B. other less developed countries.

C. multinational corporations.

D. local banks. “
assistance to less developed countries P
is the

A. World Bank.

B. United Nations Development Program
C. International Monetary Fund.

D. International Stock Exchange.

. Which of the following is NOT an

important step in moving from a
centrally planned economy to a
market economy?

A. revising the legal system
B. setting up price controls
C. privatization

D. changing the work ethic

China’s steps to modify its centrally
planned economy included

A. an emphasis on subsistence agriculture.
B. a loosening of political controls.
C. special economic zones to encourage
foreign investment.
D. an increase in the military budget. “
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